Svenska Bridgeférbundet
Simultan 2019-01-23

Partavling, 155 bord, 302 par. Antal brickor: 24. Medel: 3505.5. Frirond (*) ger egen procent.

Plac Par Poang
1 D3 5090.2
2 U7 4734.0
3 X8 4710.0
4 11 4698.5
5 03 4640.0
6 M7 4620.6
7 R3 4593.0
8 H13 4591.6
9 J11 4569.1
10 V7 4532.0
11 L14 4511.0
12 H7 4496.0
13 T15 4476.0
14 T7 4462.0
15 T6 4461.0
16 P6 4420.0
17 13 4404.0
17 K10 4404.0
19 W3 4398.0
20 C7 4392.0
21 D14 4374.0
22 P14 4372.0
23 G6 4362.0
24 R8 4353.0
25 U2 4335.0
26 W6 4325.0
27 M6 4320.0
28 E5 4313.1
29 H10 4308.0
30 L1 4260.0
31 T20 4254.0
32 K8 4251.0
33 H8 4250.0
34 02 42440
35 F5 4207.0
36 Al 4206.5
37 Q1 4195.0
38 S1 4194.0
39 F14 4180.0
40 D1 4178.2
41 E2 4164.6
42 U9 4151.0
43 K3 4150.0
44 W4 4143.0
45 L12 4142.0
45 L16 4142.0
47 D21 4113.0
48 14 4087.6
49 H24 4074.5
50 J6 4074.0
51 F10 4052.0
52 V1 4051.0
53 S6 4050.0
54 04 4021.0
55 U10 4020.0
56 P4 4006.0
57 J12 4005.7
58 X1 3986.0
59 H25 3973.1
60 L17 3957.0
61 T23 3942.0
62 E1 39394
63 X3 3938.0
64 T14 3936.0
65 116 3935.0
66 09 3927.0
67 L11 3924.0
68 X4 3901.0
68 H11 3901.0
70 N7 3899.0
71 P20 3895.0
72 Q8 3893.0
73 G2 3891.0
74 N2 3890.4
75 T2 3890.0
75 P5 3890.0
77 G8 3879.0
78 114 3871.0
79 T18 3857.0
80 Q5 3856.0
81 P16 3844.0
82 L9 3835.0
83 S4 3833.0
84 V5 3828.0

85 N5 3822.0

%

72.63
67.55
67.21
67.05
66.21
65.93
65.54
65.52
65.20
64.67
64.37
64.16
63.87
63.67
63.66
63.07
62.84
62.84
62.76
62.67
62.41
62.39
62.24
62.11
61.86
61.72
61.64
61.55
61.47
60.79
60.70
60.66
60.64
60.56
60.03
60.02
59.86
59.85
59.65
59.62
59.43
59.23
59.22
59.12
59.10
59.10
58.69
58.33
58.14
58.13
57.82
57.81
57.79
57.38
57.36
57.16
57.16
56.88
56.69
56.46
56.25
56.21
56.19
56.16
56.15
56.04
55.99
55.66
55.66
55.64
55.58
55.55
55.52
556.51
55.51
55.51
55.35
55.24
55.04
55.02
54.85
54.72
54.69
54.62
54.54

Namn

Leif Brage - Jan Olsson

Bengt Ostman - Pelle Persson

Bengt Bellander - Gabor Barath

Bo Flyme - Peter Hahne

Stig Johansson - Sven-Ake Arvendahl
Bo Hedén - Martin Dellien

Lars Andersson - Christer Broberg
Per Hansson - Margot Broms

Sten Nilsson - Marie Géthberg

Dan Granberg - Marcus Hjelte

Petter Bengtsson - Mikael Westin
Marianne Jonfelt - Bo Sjéholm
Anders Dellien - Hans Johansson
Bengt Hilling - Lars-Gdran Johansson
Allan Johansson - Arne Andersson
Thomas Brandell - Bertil Riben
Jonas Hijelte - Tomas Holmberg
Marie Cederkrok - Hakan Ohlsson
Roger Magnusson - Lars Broman
Karin Fredman - Mickey Maretics
Per-Ingvar Skoglund - Vera Gemrud
Bertil Tollbom - Owe Brink

Tord Sélvesson - Jan-Henrik Rundh
Bo Ericson - Lars Ericson

Christer Nordqgyvist - Lennart Karlsson
Eva Brantingson - Sten Pettersson
Roger Nyman - Tommy Svensson
Christer Toreheim - Kent Persson
Karl-Erik Johansson - Roger Rundkvist
Goran Strom - Per Norberg

Ingela Sollid - Kerstin Tidlund

Rolf Larsson - Eva Wilander

Willy Norlin - Nils Térnblom

Kerstin Ahlgren - Dorothy Tagt

Bruno Danielsson - Géran Wreiber
Kent Anderot - Roger Andersson
Hans Molin - N-G Nilsson

Folke Lundvall - J6rgen Bogg

Ake Fransson - Rolf Forsberg
John-Erik Hornfeldt - Géran Adde
Kjell Nersveen - Mats Broberg

Sonja Proos - Anneli Stenberg

Maud Kylinger - Gunnar Bostrém
Gosta Kron - Jim Nilsson

Emma Karlsson - Leif Lundberg
Goran Nordberg - Micke Glyssner
Kenneth Hellstrom - Stellan Andersson
Christer Frisk - Bertil Melkersson

Per Svensson - Eivor Svensson

Rolf Selander - Johan Karlsson

UIf Sundberg - Lars Wohlfart

Leif Grund - Lars Annemark

Anders Viklund - Christer Fransson
Ulf Wilkenson - Asa Eriksson

Elving Forsstrom - Randi Résnas
Jan Hennig - Bengt Haggquist

Leif Ernstsson - Anita Johnsson

Inge Magnusson - Leif Johansson
Ingrid Hagberg-Hake - Hakan Lorantz
Gunnar Holmkvist - Henrik Oldenburg
Gota Hakansson - Gert Mortensen
Per Jansson - Anna-Carin Mattsson
Bengt Bengtsson - Goran Emvall
Tomas Joelsson - Christer Tolergard
Agneta Lindblom - Lars Karlsson
Mats Wilkenson - Christer Svensson
Jan Lundberg - Lars Forsberg

Per Andreasson - Kurt Felldin
Gull-Inger Johansson - Lars Jeppsson
Bertil Holmqyvist - Lage Boman

Peter R&dahl - Carina Radahl
Torbjérn Utterstrom - Lennart Andersson
Anders Darle - Jan Lilja

Jan Johansson - Rune Isaksson
Thomas Englund - Kenneth Gadd
Ulla Wikstrém - Gun Forss

Folke Lidén - Gunilla Krook

Kent Hidsjo - Mats Nilsson

Florence Fridén - Birgitta Isacson
Sdren Forsmark - Barbro Forsmark
Goran Tibell - Susanne Wallster
Fredrik Larsson - Jonatan Johansson
Anders Johansen - Per-Ake Jansson
Ryszard Sliwinski - Marito Karlsson
Per-Ake Karlsson - Niklas Sundberg

MID

12132
78901
903
2260
78428
7553
18938
45045
10142
6
11369
7099
7117
10849
18392
11223
88994
40103
23121
92840
2734
2899
47561
2962
6206
89760
7522
46238
768
5370
59394
1172
7155
19364
35508
24537
20432
92976
7976
4866
14986
18122
31298
50145
58290
5369
7012
43398
37124
7824
28528
27849
9400
36123
6208
93000
13674
7398
87252
4882
55026
57189
11264
33025
17656
8175
5271
84676
9877
10347
33721
9521
3659
9696
41642
57671
3665
17658
32680
81896
61596
58289
82466
7639
82297

2423
78898
916
1187
5396
7489
8172
14246
19806
84282
14022
591
14410
29556
18451
90723
9167
14605
12142
50249
23764
15401
20253
12536
7084
2557
7520
54551
878
20066
32675
87253
44746
7188
13638
24536
21466
92698
13471
2784
11966
83306
46656
3507
20271
2607
2726
1022
37123
32229
91890
13297
13729
64870
78903
31659
5886
945
91035
9549
13171
57191
80288
33024
21848
39864
8478
912
91001
17370
33724
16112
83853
9689
7511
86314
14090
17418
87270
81895
40818
62721
2714
15214
62355

Klubb

BK Falkenberg

Svegs BK

Vaxjobridgen

Kisa BS

Rattviks BS

Uddevalla BF

Skutskars BK
Karlshamns BK
Lindesbergs BS - Orebridgen
Uppsalabridgen

Luled BK

Karlshamns BK

Tjorns BK

Orust BK - Stenungsunds BK
Tjorns BK

Sigtuna BS

Kisa BS

Filbyter Bridge - Ljungsbro BK
Vaddo BK

Enkdpings BS

BK Allians, Halmstad
Sigtuna BS - Marsta BK
Hagfors BK

Gévle BK

Svegs BK

Vaddo BK

Kungshamns BK
Finnskoga BS

Ryds BK

Luled BK

Tjorns BK

Ljungsbro BK
Karlshamns BK

Rattviks BS - Borlange BK
Folkare BK

Ankarsrums Bridgeklubb
Skellefted BK
Smedstadens BK
Fagersta BS - ABB BK
ABB BK - BK Falkenberg
Finnskoga BS

Svegs BK

Filbyter Bridge

Vaddo BK

Luled BK

Luled BK

BK Falkenberg

Kisa BS

Karlshamns BK
Orebridgen - Hallefors BK
Folkare BK

PBF Uppsala
Smedstadens BK
Réttviks BS

Svegs BK

Sigtuna BS

Lindesbergs BS
Vaxjobridgen
Karlshamns BK

Luled BK

Stenungsunds BK - Tjérns BK
Finnskoga BS
Vaxjébridgen
Stenungsunds BK

Kisa BS

Insjons BK - Réttviks BS
Luled BK

Vaxjobridgen
Karlshamns BK
Arjeplogs BS - Norsjo BK
PBF Uppsala

Skellefted BK

Hagfors BK

Norsjo BK

Tjorns BK

Sigtuna BS

Hagfors BK

Kisa BS

Tjorns BK

Skellefted BK

Sigtuna BS - Marsta BK
Luled BK

Smedstadens BK
Uppsalabridgen

Norsj6 BK
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
130
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
149
151
152
153
154
155
155
157
158
159
159
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177

E6 3818.3
C8 3807.0
T9 3806.0
P13 3805.0
V9 3795.0
F12 3791.0
H3 3788.0
F1 3787.0
L10 3765.0
V10 3762.0
w1l 3761.0
K1 3755.0
3754.0
3746.0
06 3737.0
M2 3733.7
M4 3730.3
C4 3723.0
C5 3722.0
3720.0
P1 3719.0
Ol 3715.0
D9 3704.7
B2 3699.0
U4 3698.0
Q3 3697.0
A3 3689.5
M3 3660.6
A5 3660.0
A2 3658.9
3657.8
E9 3653.0
3648.0
3642.0
Q7 3624.0
L8 3621.0
L3 3616.0
17 3603.3
K4 3603.0
110 3592.4
L5 3582.0
05 3574.0
A9 3564.0
J9 3562.3
V4 3561.0
K9 3561.0
E8 3558.9
P3 3555.0
A6 3554.2
3552.0
R2 3551.0
3550.0
F2 3546.0
M9 3544.0
3543.3
J7 3543.0
L4 3539.0
D5 3533.5
F3 3533.0
N6 3528.0
G3 3520.0
V2 3518.0
3506.0
H1 3502.0
3502.0
K7 3496.0
D6 3493.1
3490.0
3488.0
S3  3486.0
3486.0
G5 3479.0
P8 3470.0
C3 3469.0
3469.0
3466.9
E4 3465.1
112 3463.6
3462.0
T5 3456.0
B4 3454.0
Bl 3449.0
3446.9
Ul 3435.0
111 3434.2
3430.0
R4 3429.0
N4 3426.0
3424.4
Jl 34183
3416.0
B3 3414.0

54.48
54.32
54.31
54.30
54.15
54.10
54.05
54.04
53.72
53.68
53.67
53.58
53.57
53.45
53.32
53.28
53.23
53.13
53.11
53.08
53.07
53.01
52.86
52.78
52.77
52.75
52.65
52.23
52.23
52.21
52.19
52.13
52.05
51.97
51.71
51.67
51.60
51.42
51.41
51.26
51.11
51.00
50.86
50.83
50.81
50.81
50.78
50.73
50.72
50.68
50.67
50.66
50.60
50.57
50.56
50.56
50.50
50.42
50.41
50.34
50.23
50.20
50.03
49.97
49.97
49.89
49.84
49.80
49.77
49.74
49.74
49.64
49.51
49.50
49.50
49.47
49.45
49.42
49.40
49.32
49.29
49.22
49.18
49.02
49.00
48.94
48.93
48.89
48.86
48.78
48.74
48.72

Tommy Kont - Ann-Britt Tornkvist
Thomas Ekblom - Magnus Hurulund
Bengt Lundberg - Reinhold Karlsson
Bengt Lindberg - Berit Arnfors

Tommy Hagstréom - Anders Blomqvist
Bernt Hallstrom - Kalle Hedin

Larry Rosenius - Karl-Yngve Mattsson
Dan Johansson - Bo Wiker

Hans Warell - Hakan Brostrém

Claes Hallstrém - Borje Liljekvist

Leif Andersson - Maths Mattsson

Siw Karlsson - Gun Karlsson

Bengt Nordstrom - Erik Sved

Hans Orr - Ping Huang

Anita Solin - Karin Samuelsson

Tommy Edvarsson - Martin Larsson
Thomas Christianson - Nils-Ake Johansson
Anette Maretics - Johan Ostman
Barbro Sandberg - Marianne Kruse
Monica Appelros - Elisabet Andersson
Anders Kallsten - Kjell Larsson
Sven-Erik Emanuelsson - Mats Wiklund
Ingemar Andersson - Barbro Andersson
David Eriksson - Tomas Andersson
Anette Busk - Alf-Ove Busk

Eva-Britt Blomkvist - Lars-Géran Blomkvist
Anne-Marie Carlsson - Mariette Persson
Rolf Svensson - Thomas Lindkvister
Hakan Fahlstrom - Peter Rosenqvist
Sven-Erik Andersson - Kenneth Cederlof
Roger Thilly - Peter Tangsten

Bruno Karlstam - Tove Rangberg

Anki Nilsson - Lennart Nilsson

Bertil Olsson - Lars Thorstensson

Kjell Andersson - Stefan Andersson
Stig-Ake Ifrig - Erik Johansson

Lisbet Markgren - Lennart Markgren
Risto Laine - Bertil Bjorck

Rolf Ohman - Inger Ohman

Dag Johansson - Torbjorn Forsén
Marianne Liljenstrand - Agneta Troselius
Gunnar Berg - Olle Wester

Roger Hag - Ove Gustavsson

Lars Marcusson - Irene Haberger

Mats Olsson - Torsten Andersson
Kenneth Géllman - Anders Svensson
Marit Rangelind - Kerstin Tidlund
Stephan Sundling - Sixten Andersson
Kenneth Hagman - Bjérn Persson
Sven-Olof Onnesson - Britt-Mari Onneson
UIf Ohman - Joakim Ericson

Dahn Gidstedt - Leif Cederhorn
Bengt-Olov Abrahamsson - Leif Eriksson
Lars Johansson - Mona Andersson
Klas Diamant - Johnny Petersson
Mikael Hallin - Helen Uliczka

Per Obom - Ake Johansson

Bjorn Nilsson - Bengt-Goran Nilsson
Peter Ventura - Pang Ventura

Ann Lundmark - Christer Bergqvist
Anna-Lisa Andersson - Marlies Almemark
Roland Schilling - Carina Sundén

Ulla Langemar - Gunilla S6derberg
Nils-Erik Abrahamsson - Lena Hallberg
Margareta Magnell - Irene Axelsson
Bent Castella - Evert Johansson
Lillemor Swenson - Birgitta Karlsson
Gert-Inge Hugosson - Conny Karlsson
Annika Hugosson - Ingegerd Nordwall
Ann-Marie Larsson - Rigmor Ohlander
Ove Olsson - Einar Jonsson

Sven Arne Persson - Sture Arnesson
Guy Rosqvist - Per-Olof Bergquist
Lennart Schenning - Kerstin Schenning
Sveinn Bjarman - Stefan Erlandsson
Ulla Jeppsson - Monica lgelstrom
Torbjérn Johansson - Ida Broberg
Anders Karlsson - Fredrik Banck

Kent Larsson - Laila Barone

Alf Torma - Goran Linder

Tewelde Okbey - Ehsan Salem

Vladan Vucetic - Rogert Deiwall

Borje Eriksson - Curt Lindstrom
Ann-Kristin Olofsson - Ingvar Ho6k
Ylva Ski6ld - Claes-Goéran Blixt

Gunilla Lindahl - Ulla-brith Johansson
Ingrid Stolt - Hans Lindstrém

Robert Bohman - Christer Nystrém
Lena Jepson - Christina Johansson
Birgitta Jonasson - Stina Gottliebsson
May-Gull Hensche - Monica Néslund
Henrik Lehtonen - Fadi Shoshara

57190
32214
7466
49602
9775
37989
16382
8042
40397
40557
9905
1963
36124
2792
86656
46048
64222
24689
51979
27368
6609
10424
23753
33720
33975
9525
43340
33584
19123
30537
54993
14996
37824
88524
9540
20310
56510
88882
4997
88495
38910
38
17235
15446
35447
32688
10123
33100
748
10902
25671
57964
37988
50647
842
4053
64346
79585
3715
35884
10925
31137
59168
6558
29520
92483
80991
88521
87574
34689
10903
15746
55187
82162
2817
88584
49897
12332
7660
17389
59641
59642
22137
78892
19968
29639
31664
17371
61386
93937
36549
39483

31269
50190
9333
91251
2823
60794
11869
4014
12081
2874
13022
1201
16
38809
58810
63472
7479
21811
38300
88566
52094
43330
23752
46912
33976
9545
23271
65149
87389
17786
30546
2684
37822
16142
15068
89345
56509
1025
79565
88512
53653
30359
46075
55643
39173
40107
16036
33176
23272
45855
26279
57963

7542
11931
31853
31801
41633
48499
42898
83266
28164
31939
57514
29519

1570
31546
28943
87558
92978

2732
11143
57440
82161
30126
88567
61999
21847
50185

7510
59638
23284
53347
79596
12046
55028
28580
15206
61384
53995
88583
64841

Finnskoga BS

Enkdpings BS

Tjorns BK

Mérsta BK - Sigtuna BS
Uppsalabridgen

Folkare BK

Karlshamns BK

Fagersta BS

Luled BK

Sigtuna BS - Uppsalabridgen
vaddo BK

Filbyter Bridge

Tjorns BK

Uppsalabridgen

Rattviks BS

Kungshamns BK

Tanums BK - Munkedals BS
Enkopings BS

Enkdpings BS

Ryds BK - Karlshamns BK
Sigtuna BS

Rattviks BS

BK Falkenberg

BK Dalom

Svegs BK

Skellefted BK

Vimmerby BK - Hultsfred/Malilla BK
Kungshamns BK - Hunnebostrands BK
Vimmerby BK - Ankarsrums Bridgeklubb
Ankarsrums Bridgeklubb - Helgenas BK
Vasterviks BK - Ankarsrums Bridgeklubb
Finnskoga BS

BK Falkenberg

BK Falkenberg

Skellefted BK

Luled BK

Luled BK

Kisa BS

Ljungsbro BK

Kisa BS

Luled BK

Réttviks BS

Ankarsrums Bridgeklubb
Orebridgen - Nora BK
Uppsalabridgen - PBF Uppsala
Filbyter Bridge - Ljungsbro BK
Finnskoga BS

Marsta BK

Hultsfred/Malilla BK

BK Falkenberg

Skutskars BK

Marsta BK

Folkare BK

Tanums BK

Karlshamns BK - Séllskapet, Ronneby
Lindesbergs BS

Luled BK - Boden-Savast BS
BK Falkenberg

Borlange BK

Norsj6 BK

Hagfors BK

PBF Uppsala - Uppsalabridgen
Sigtuna BS

Karlshamns BK

Folkare BK

Ljungsbro BK

BK Falkenberg
Stenungsunds BK
Stenungsunds BK - Tjérns BK
Smedstadens BK

BK Falkenberg

Hagfors BK

Sigtuna BS

Enkdpings BS
Uppsalabridgen

Karlshamns BK

Finnskoga BS

Kisa BS

Tjorns BK

Tjorns BK

BK Dalom

BK Dalom

Lindesbergs BS

Svegs BK

Kisa BS

Tjorns BK - Stenungsunds BK
Skutskars BK

Norsjo BK

Karlshamns BK

Lindesbergs BS

Karlshamns BK

BK Dalom
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178
179
180
181
182
183
184
185
185
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
201
203
204
205
206
207
208
209
210
211
212
212
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249
250
251
252
253
254
255
256
257
258
259
260
261
262
263
264
265
266
266
268
269

Cl 3405.0
G7 3387.0
Q2 3386.0
O7 3383.0
P7 3377.0
3365.5
3363.0
2 3362.2
18 3362.2
T3 33620
T8 3361.0
A7 33456
3339.0
M8 3338.3
DS 3333.8
3330.0
F7 3327.0
K6 3323.0
3314.2
V3 3303.0
T4 3296.0
J5 3293.7
3293.0
C6 3285.0
F6 3285.0
3269.0
3260.7
A4 3256.4
3232.0
3230.2
us 3227.0
M5 3222.9
M1 32217
3219.0
F4 32150
3215.0
E3 3208.0
X7 3203.0
N3 3195.6
L2 3188.0
3182.0
3181.1
3180.0
3179.0
3175.0
3174.5
D2 3169.1
3167.0
X6 3164.0
R6 3161.0
3152.0
F8 3148.0
J2  3140.6
K5 3135.0
3128.0
R5 3123.0
3114.5
L6 3110.0
V6 3107.0
A8 3097.1
3093.0
3083.0
X2 3080.0
3079.0
D4 3076.4
L7 3074.0
08 3056.0
G4 3041.0
C2 3039.0
R1 2997.0
2990.0
2975.0
C9 2966.0
T1 2961.0
Q6 2954.0
2947.0
2942.0
H9 2939.0
S2 29210
2913.0
2909.0
2906.0
F9 2897.0
16 2895.3
2891.0
H5 2877.0
E7 2875.4
2858.0
H4 2856.0
D7 2856.0
All 2839.6
J4  2827.4

48.59
48.33
48.32
48.27
48.19
48.02
47.99
47.98
47.98
47.97
47.96
47.74
47.65
47.64
47.57
47.52
47.47
47.42
47.29
47.13
47.03
47.00
46.99
46.88
46.88
46.65
46.53
46.47
46.12
46.09
46.05
45.99
45.97
45.93
45.88
45.88
45.78
45.70
45.60
45.49
45.41
45.39
45.38
45.36
45.31
45.30
45.22
45.19
45.15
45.11
44.98
44.92
44.81
44.73
44.63
44.56
44.44
44.38
44.34
44.19
44.14
43.99
43.95
43.94
43.90
43.86
43.61
43.39
43.36
42.77
42.67
42.45
42.32
42.25
42.15
42.05
41.98
41.94
41.68
41.57
4151
41.47
41.34
41.31
41.25
41.05
41.03
40.78
40.75
40.75
40.52
40.35

Anders Pettersson - Mats Ostgren
Gunnar Krook - Bertil Nilson

Karl-Erik Johansson - Britt Ahman
Christer Roos - Mats Hansson

Jesper Rundin - Stefan Olausson
Carina Hansson - Bjérn Hansson
Ronny Karlsson - Lennart Nilsson

Gote Olauson - Benny Andersson
Hakan Lennartsson - Lennart Samuelsson
Lena Zetterup - Jan-Olof Zetterup
Ingemar Pettersson - Anders Akerstrém
Carina Nilsson - Karin Forsberg Carlsson
Gull-Britt Sved - Marianne Axfjord

Eva Andersson - Birgitta Johansson
Anita Andersson - Ingela Nilsson

Martin Hermansson - Karl-Lennart S6r
Mats Myrén - Unni-Britt Myrén

Sture Mattsson - Ragnar Jansson

Jan Janson - Margaretha Larsson

Sven Edlund - Bjoérn Magnusson
Majsan Agren - Anna Ek

Sven Jonasson - John Avenas

Per-Erik Nordin - Leif Mattsson

Anita Ahlstrom - Barbro Sahlberg

Ake Lindgvist - Mait Lindgvist

Bo Sahlstrom - Roland Persson

Olle Alm - Hans-Christer Hensche
Lillemor Cederlof - Margit Jacobsson
Kent Tibbelin - Janne Andersson

Hans Carlsson - Lars Warberg
Christina Westberg - Hans Pudja

Ulla Alm - Kenth Karlsson

Sven Johansson - Stefan Johansson
Rolf Oskarsson - Rolf Oskarsson
Peggy Andersson - Olof Andersson

Leif Eriksson - Karin Wallberg Holm
Lasse Jons - Nils Erik Magnusson
Loucie Lindborg-Mansson - Eva Engvall
Stellan Karlsson - Ann-Kristin Pettersson
Kerstin Nasberg - Ann-Katrin Johansson
Mona Beckman - Anita Eriksson

May Franzén - Inger Bertilsson

Ulla Norman - Karin Hellsten

Astrid Suominen - Mauritz Bjorkryd
Gunilla Wiklund - Ingemar Ahlgren
Annica Ringso0 - Ingvar Svensson

Rolf Claesson - Hans Ohlsson
Lars-Olof Henriksson - Evy Sahlen
Anders Dahl - G6ran Fransson

Kristina Olsson-Sdderhall - Magnus Gronberg
Inger Lundberg - Tomas Lundberg
Lena Dahlman - Rolf Lindberg

Gudrun Eriksson - Birgit Pettersson
Sven-Inge Sandell - Ove Gustafson
Eva Skoglund - Gunnar Skoglund

Eva Frankson - Lennart Nilsson

Ruth Carlson - Anders Carlson

Gustav Hansson - Kalle Bergdahl
Maria Hasselgren - Johan Hasselgren
Sune Jansson - Jan Térndal

Bengt-Ake Carlsson - Birgitta Séderlund
Azam Forsberg - Sune Uusitalo

Bengt Géransson - Jan-Olof Hjelmberg
Gunilla Méllersvéard - Bibi Térngvist
Lillemor Bengtsson - Wiking Lindholm
Hannes Lundgren - Oskar Térndahl
Birgitta Stegner - Mats Isaksson

Lilian Norberg - Roland Jager

Sonja Mdller - Bo Engdahl

Helena Lindstrom - Elisabeth Billfalk
Gun Claesson - Solveig Tideman
Ulla-Britt Wahlin - Berit Remnelid
Brittmarie Frolén - Kari Mykkanen
Torbjérn Eriksson - Jan Rohlen

Mats Lundquist - Lars Markstrém

Leif Riddarsporre - Agneta Nilsson
Mikael Dahbo - Marie Bjerksjo
Gun-Britt Karlsson - Karin Harrysson
Lennart Jonasson - Lars Gustavsson
Birgitta Andersson - Ingrid Nordin

Rune Bjérkman - Elvy Bjérkman

Bo Fransson - Britt Fransson

Birger Ericsson - Bert Ahlstrém
Else-Britt Lindblom - Lillemor Dahlgvist
Bjorg Adofsson - Lennart Lodin

Alf Eriksson - Leif Pettersson

Birgitta Halvarsson - Margareta Linde'n
Jan-Olof Johnsson - Thomas Andersson
Birgitta Lo6w - Gunnel Svensson
Carl-Gustav Johansson - Daniel Andersson
Kenneth Andersson - Conny Bohman
Lars-Olof Nyberg - Benny Blankner

61718
81717
9677
33565
49941
26203
19849
12301
17419
87573
20124
58816
88823
16715
1079
87557
31566
1559
42408
35787
59578
83723
1808
50082
29508
40586
31641
57496
89969
42413
4965
41239
1709
46972
49473
63441
64700
61816
64308
8477
44097
45818
31607
13134
37565
88202
84257
60941
86583
26280
43798
255
64081
11453
87658
3136
19394
56508
38165
30547
31142
13261
39923
59544
86494
65271
61289
3651
64711
85894
19838
84581
40976
33026
10219
29389
32909
41070
55817
46984
24055
57441
61431
18677
82501
57511
43705
37816
25639
63603
39431
63425

Enkdpings BS

Hagfors BK

Skellefted BK

Raéttviks BS

Borlange BK - BK S:t Erik
Karlshamns BK

BK Falkenberg

Kisa BS

Kisa BS

Lerums BK

Tjorns BK - Stenungsunds BK
Overums BK - Gamleby BK
Tjorns BK

Munkedals BS

BK Falkenberg
Stenungsunds BK

Folkare BK

Ljungsbro BK - Filbyter Bridge
BK Falkenberg

PBF Uppsala

Uddevalla BF

Lindesbergs BS

Vaddo BK

Enkopings BS - PRO Enkoping Bridge

Folkare BK
Uppsalabridgen - PBF Uppsala

Bodekull Seniorbridge, Karlshamn - Karlshamns BK

Ankarsrums Bridgeklubb
Enkdpings BS

BK Falkenberg
Svegs BK
Munkedals BS
Munkedals BS
Stenungsunds BK
Folkare BK
Sigtuna BS
Finnskoga BS
Vaxjobridgen
Norsjo BK

Lulea BK

Marsta BK - Sigtuna BS
Karlshamns BK
Luled BK

Sigtuna BS
Réttviks BS
Karlshamns BK
BK Falkenberg
Stenungsunds BK
Véaxjobridgen
Skutskars BK
Boden-Séavast BS
Folkare BK
Lindesbergs BS
Filbyter Bridge - Ljungsbro BK
Vaddo BK
Skutskars BK
Karlshamns BK
Luled BK
Uppsalabridgen
Ankarsrums Bridgeklubb
PBF Uppsala
Luled BK
Vaxjobridgen
Sigtuna BS

BK Falkenberg
Luled BK

Rattviks BS
Hagfors BK
Enkopings BS
Skutskars BK

BK Falkenberg
Karlshamns BK
Enkdpings BS
Stenungsunds BK
Skellefted BK
Filbyter Bridge - Ljungsbro BK
Ljungsbro BK
Karlshamns BK
Smedstadens BK
Stenungsunds BK
Tjorns BK
Sigtuna BS
Folkare BK

Kisa BS
Finnskoga BS
Karlshamns BK
Finnskoga BS

BK Falkenberg
Karlshamns BK
BK Falkenberg
Ankarsrums Bridgeklubb
Orebridgen
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270 R7 2825.0 40.31 Christina Moberg - Marianne Melchior Ericson 3293 17146 Skutskars BK
271 T19 2824.0 40.30 Maggie Robertsson - Britt-Inger Ryding Johansson 63608 63607 Stenungsunds BK

272 E11 2821.0 40.25 Pia Andersson - Elisbeth Henriksson 46240 64699 Finnskoga BS

273 T28 2812.0 40.13 Odd Nordanas - Christina Nordanas 43875 43874 Tjorns BK - Stenungsunds BK

274 U5 2810.0 40.10 Ingrid Johansson - Britt Fohlin 42038 80494 Svegs BK

274 W8 2810.0 40.10 Britt-Marie Nilsson - Gun Nilsson 37629 37630 Vaddo BK

276 H2 2807.0 40.05 Birgitta Mattsson - Gunilla Karlén 63984 57515 Karlshamns BK

277 U6 2775.0 39.60 Gun-Britt Persson - Stefan Persson 86757 50186 Svegs BK

278 19 2761.1 39.40 Evy Axelsson - Liane Ringh 44435 44433 Kisa BS

279 115 2735.0 39.03 Harriet Albinsson - Inger Andersson 44436 44434 Kisa BS

280 M10 2725.0 38.88 Jonny Grenander - Jan-Erik Olsson 12357 15178 Munkedals BS

281 J8 2692.0 38.41 Hijordis Andersson - Birgitte Thellefsen 46845 39856 Lindesbergs BS

282 N1 2688.0 38.36 Leif Olofsson - Siv Stenmark 48794 31714 Norsjo BK

283 P9 2685.0 38.31 Agneta Nyblom - Monica Hedberg 47933 48557 Ljungskile BK - BK Everfresh

284 H6 2665.0 38.03 Stefan Olsson - Jerk Jepson 57509 61385 Karlshamns BK

285 M11 2654.0 37.87 Sune Gustafsson - Rose-Marie Antonsson 88664 88657 Stromstads BK

286 D15 2627.0 37.49 Kent Asplund - Bengt-Ake Rénnborg 26431 46789 BK Falkenberg

287 F13 2586.0 36.90 Kent Angskog - Andreas Hedstrom 38152 61427 Folkare BK

288 S5 2540.0 36.24 Eva Brusén Stenman - Lena Erlandsson 55819 55820 Smedstadens BK

289 012 2503.0 35.72 Barbro Mickols - Ylva Zackrisson 29420 29423 Réttviks BS

290 K2 2481.0 35.40 Hakan Lindberg - Claes Lindberg 61732 55490 Filbyter Bridge

291 G1 2473.0 35.29 Hans Liljas - Ulf Olsson 9792 62769 Hagfors BK

292 T10 2455.0 35.03 Ingrid Heyer - Irma Svensson 49021 46610 Tjorns BK - Stenungsunds BK

293 Q4 2427.0 34.63 Gunnel Naswall - Britt-Marie Stenberg 87162 30241 Skellefted BK

294 P2 2425.0 34.60 LennartBergstedt - Ase Bergstedt 59542 59543 Sigtuna BS

295 |5 2352.0 33.56 Tommy Simonsson - Per-Arne Ekholm 21857 65413 Kisa BS

296 L13 2211.0 31.55 Max Freudenthal - Alexander Fagrell 65272 65276 Luled BK

297 L19 2188.0 31.22 Maria Hallgvist - Hakan Nyman 60441 60442 Luled BK

298 W5 2174.0 31.02 Bernd Danner - Ake Thorell 37610 46145 Vaddo BK

299 011 2073.0 29.58 Ivan Bengtsson - Anders Tideback 43502 66553 Mora BK - Rattviks BS

300 X5 2050.0 29.25 Glenn Nilsson - Helén Bellander 977 45923 Vaxjobridgen

301 V8 2022.0 28.85 Agnetha Ohman - Hans Ohman 41574 41544 Uppsalabridgen

302 U3 1855.0 26.47 Ragnar Sundh - Per Karlsson 42043 50640 Svegs BK

1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
R7 R1 44DV-4 &7 800 2920 00| C4 C2 6NN= 44 1440 2920 00| U8 U3 2¢DV-3 #Q 800 2920 0.0
02 011 4v S= 4A 420 2870 5.0 H1 H13 64 N= vT 1370 266.0 26.0| L5 L18 3NS= 48 400 288.0 4.0
E4 E3 4vy N= ¢A 420 2870 50| O2 Ol1 6¢ S= v2 1370 266.0 26.0|J10 J5 2¢ V-4 v5 400 2838.0 4.0
D9 D17 4v S= 4A 420 2870 50| S2 S4 6¢ N= v4 1370 266.0 26.0|T20 T22 3NS= v6 400 288.0 4.0

010 O5 4v S= 4A 420 2870 5.0| D3 D16 64 N= 44 1370 2660 26.0| H1 H12 INO-3 4K 300 280.0 12.0
M2 M11 400 276.0 16.0| 13 I5 6¢ S= v2 1370 266.0 26.0| K7 K12 2¢ V-3 v2 300 280.0 12.0
A3 A9 3NS= «Q 400 2760 16.0| O4 O3 6¢ S= 43 1370 2660 260 R7 R1 2¢ V-3 v5 300 280.0 12.0
C3 C6 3NS= 49 400 276.0 16.0| P6 P14 64 S= 47 1370 2660 260 K9 K1 3vyv O-3 4K 300 280.0 12.0
G7 G1 3NS= #Q 400 2760 16.0| C7 C8 6¢ S= #5 1370 2660 260 U9 U2 INV-3 46 300 2800 120
W7 W1 3NS= 48 400 2760 16.0| J7 J12 6¢ S= #5 1370 2660 260 G5 G4 INS+4 +3 210 2740 180

H10 H19 3NS= 42 400 2760 16.0| N7 N2 64 S= #4 1370 2660 260( V1 V3 3v0O-2 &K 200 2650 270

P18 P10 3NS= 42 400 2760 160 K8 K6 6¢ S= v3 1370 266.0 26.0| 02 O11 INO-2 4K 200 265.0 27.0
A2 A8 3v S+l 44 170 2660 26.0| R8 R3 6¢ N= vT 1370 266.0 26.0| Q7 Q2 34 N+2 ¢J 200 265.0 27.0
H3 H18 3vy N+1 ¢A 170 266.0 26.0| X8 X3 6¢ S= #5 1370 2660 260 W7 W1 3v0O-2 &K 200 2650 27.0
V7 V8 3v S+l 4A 170 266.0 26.0| L9 L12 6¢ S= 43 1370 2660 26.0(U10 Ul INO-2 &6 200 2650 27.0
O7 012 2NS+1 42 150 260.0 32.0| T9 T10 6¢ S= #4 1370 266.0 26.0(P14 P7 3vO-2 &K 200 2650 27.0

K10 K5 34 V-3 «7 150 260.0 32.0 |[H10 H19 64 S= v2 1370 266.0 26.0|T18 T9 2v O-2 4K 200 265.0 27.0

T19 T21 2NS+1 T 150 260.0 32.0| 110 2 6¢ S= 4J 1370 266.0 26.0 [H24 H22 INO-2 &K 200 2650 27.0
B4 Bl 2¢v N+1 ¢A 140 2450 47.0|K10 K5 6¢ S= #4 1370 2660 260 S3 S5 2NS+2 3 180 2550 37.0
M4 M3 140 245.0 47.0 |H11 H21 64 S= v2 1370 266.0 26.0|P13 P2 INS+3 5 180 2550 37.0
N4 N5 2v S+1 #Q 140 2450 47.0|L11 L10 6¢ S= 4J 1370 2660 260 F5 F7 24 N+2 ¢J 170 2490 430
G5 G4 2vS+1 ¢A 140 2450 47.0|F12 F7 6¢ N= 44 1370 2660 260 G7 G1 24 N+2 ¢J 170 249.0 430
V5 V10 3v N= ¢A 140 2450 47.0(L14 L7 64 N= vT 1370 266.0 26.0| V7 V10 24 N+2 ¢J 170 249.0 43.0
W5 W4 3v N= ¢K 140 2450 47.0(T15 T16 6¢ S= #4 1370 2660 26.0(L16 L7 24 N+2 ¢J 170 2490 430
E7 E12 2¢» N+1 #Q 140 2450 47.0|(L16 L5 6¢ N= 45 1370 2660 26.0( E2 E11 2NS+1 T 150 2300 62.0
19 14 3vyN= ¢K 140 2450 47.0(H20 H4 64 S= 43 1370 2660 260 C4 C2 INS+2 ¢3 150 230.0 62.0
09 01 3vS= ¢8 140 2450 470| F2 F5 3NS+3 v2 690 2250 67.0| D4 D17 2NS+1 ¢2 150 230.0 62.0
115 16 3v N= ¢A 140 2450 470| T2 T12 3NS+3 #4 690 2250 670| U6 U5 INS+2 45 150 230.0 62.0

T15 T16 3v S= «Q 140 2450 470| F3 F11 3NS+3 ¢4 690 2250 67.0| 17 115 INS+2 2 150 230.0 62.0

T28 T1 3v N= ¢A 140 2450 470 R5 R4 3NS+3 &6 690 2250 67.0| N7 N2 INS+2 ¢2 150 230.0 62.0
H8 H15 2v S= «Q 110 2280 640| V5 V10O 3NS+3 #4 690 2250 670| O8 06 INS+2 ¢2 150 230.0 62.0
08 06 2v N= ¢A 110 2280 640 Q6 Q3 3NS+3 &4 690 225.0 67.0| P8 P10 2NS+1 ¢2 150 230.0 62.0

T4 T4 2v S= +8 110 2280 640| H8 H1I5 3NS+3 #4 690 2250 670 110 5 INS+2 ¢2 150 230.0 62.0
116 112 2v N= ¢K 110 2280 640| U8 U3 3NN+3 44 690 2250 67.0(L10 L13 2NS+1 ¢3 150 230.0 62.0

H17 H9 2v S= «Q 110 2280 640 W8 W3 3NN+3 T 690 225.0 67.0|D12 D7 2NS+1 v6 150 230.0 62.0
J2 J11 3¢ O-1 &A 50 221.0 710| E9 E1 3NS+3 &4 690 2250 67.0|Vi4 V2 2NN+1 ¢J 150 230.0 62.0
FO9 F10 34 V-1 vA 50 221.0 71.0|D10 D19 3NS+3 &4 690 2250 67.0|T15 T5 INS+2 ¢3 150 230.0 62.0
H1 H13 4v S-1 +8 -50 158.0 134.0|U10 Ul 3NS+3 &6 690 2250 67.0|D21 D20 INS+2 2 150 230.0 62.0
E2 E11 4vy N-1 ¢A -50 158.0 134.0 (P11 P3 3NN+3 44 690 2250 67.0(H21 H5 2NN+1 ¢J 150 2300 62.0
K2 K11 4v N-1  +A -50 158.0 134.0 ([H17 H9 3NS+3 43 690 2250 67.0( L1 L3 24 N+1 ¢J 140 203.0 89.0
D3 D16 3v S-1 *Q -50 158.0 134.0 (D20 D5 3NS+3 #4 690 2250 67.0| S2 S4 24 N+1 +¢J 140 203.0 89.0
F3 F11 4v S-1 s A -50 158.0 134.0(H22 H5 3NS+3 47 690 2250 67.0( N4 N5 24 N+1 ¢J 140 2030 89.0
S3 S5 4¢vyN-1 +A -50 158.0 134.0 [ M2 M11 660 193.0 99.0| A6 A3 24 N+1 ¢J 140 203.0 89.0
A4 A10 4v N-1  +K -50 158.0 1340 C3 C6 3NS+2 #6 660 1930 990 G6 G2 24 N+1 43 140 203.0 89.0
C4 C2 4vy N-1 ¢A -50 158.0 1340 G6 G2 3NN+2 T 660 1930 99.0( G8 G3 24 N+1 ¢J 140 203.0 89.0
D4 D18 3v N-1  ¢A -50 158.0 134.0( V6 V9 3NS+2 &5 660 1930 99.0( D9 D16 34 N= ¢J 140 203.0 89.0
FA F6 4vy N-1 ¢K -50 158.0 134.0| W6 W2 3NS+2 #4 660 193.0 99.0|/010 O5 34 N= vA 140 203.0 89.0
K4 K3 3vy N-1 ¢A -50 158.0 1340 X6 X2 3NS+2 v2 660 1930 99.0(T10 Til1 24 N+1 ¢J 140 203.0 89.0
P4 P17 3NS-1 *Q -50 158.0 134.0 H7 H12 3NS+2 #6 660 1930 99.0(L12 L11 24 N+1 43 140 203.0 89.0
Q4 Q5 3NS-1 *Q -50 158.0 134.0| V7 V8 3NN+2 46 660 193.0 99.0|L20 L2 24 N+1 +J 140 203.0 89.0
A5 All 3v N-1 +K -50 158.0 134.0 | W7 W1 3NS+2 &7 660 1930 99.0(T26 T8 14 N+2 ¢J 140 203.0 89.0
T5 T20 3v N-1  +A -50 158.0 1340 Q8 Q1 3NS+2 v2 660 1930 99.0| P1 P15 2NS= ¢2 120 176.0 116.0
A6 Al 4v S-1 *Q -50 158.0 134.0| D9 D17 3NN+2 44 660 193.0 99.0| 4 16 INS+1 2 120 176.0 116.0
H6 H24 4v N-1  +A -50 158.0 1340 K9 K1 3NS+2 #4 660 1930 990 L4 L19 INS+1 3 120 176.0 116.0
N6 N3 4v S-1 *Q -50 158.0 134.0| U9 U2 3NS+2 #4 660 1930 990 R5 R4 INS+1 ¢2 120 176.0 116.0
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&5 -50 158.0 134.0 (V11 V4 3NS+2 #4 660 193.0 99.0| X5 X4 INS+1 3 120 176.0 116.0
*A -50 158.0 134.0|D14 D2 3NN+2 46 660 193.0 99.0| N6 N3 INS+1 ¢2 120 176.0 116.0
*A -50 158.0 134.0|P16 P8 3NS+2 43 660 193.0 99.0| P6 P20 INS+1 +Q 120 176.0 116.0

+8 -50 158.0 1340 A3 A9 3NS+1 T 630 161.0 131.0| C7 C8 2NS= +5 120 176.0 116.0
*A -50 158.0 134.0| L3 L18 3NS+1 %4 630 161.0131.0| K8 K6 INS+1 ¢2 120 176.0 116.0
+8 -50 158.0 1340| S3 S5 3NS+1 v2 630 161.0 131.0| M8 M6 120 176.0 116.0
*Q -50 158.0 134.0| L4 L17 3NS+1 v7 630 161.0 131.0| C9 C1 2NN= v6 120 176.0 116.0

*Q -50 158.0 134.0| P4 P17 3NN+1 44 630 161.0131.0| J9 J1 INS+1 ¢2 120 176.0 116.0
*A -50 158.0 1340| T6 T3 3NS+1 4J 630 161.0 131.0|V12 V5 INS+1 2 120 176.0 116.0
*Q -50 158.0 134.0| U6 U5 3NS+1 v7 630 161.0 131.0|T14 T23 INS+1 2 120 176.0 116.0
*A -50 158.0 134.0| K7 K12 3NS+1 2 630 161.0 131.0|D22 D6 INS+1 3 120 176.0 116.0

-50 158.0 1340 P7 P9 3NN+1 46 630 161.0 131.0| F1 F8 2 vA 110 128.0 164.0
*A -50 158.0 1340 M9 M1 3NS+1 47 630 161.0 131.0| 1 116 24 110 128.0 164.0
&T -50 158.0 134.0|C10 C5 3NN+l 46 630 161.0 131.0| K2 K11 2 +J 110 128.0 164.0
*Q -50 158.0 134.0 (010 O5 3NS+1 &5 630 161.0 131.0| M2 M11 110 128.0 164.0

i n
*
(&

*K -50 158.0 134.0|F13 F1 3NS+1 &5 630 161.0 131.0| B3 B2 1a N+1 +J 110 128.0 164.0
*A -50 158.0 134.0|V13 V2 3NS+l1 %4 630 161.0 131.0| T3 T1 24 N= +J 110 128.0 164.0
*Q -50 158.0 134.0 (P18 P10 3NS+1 ¢4 630 161.0 131.0| A4 All 24 N= +J 110 128.0 164.0
+8 -50 158.0 134.0|T19 T21 3NS+1 #4 630 161.0 131.0| E4 E3 2¢ N+1 vA 110 128.0 164.0

¢8 50 158.0 134.0| J2 J11 5¢ S+1 #5 620 118.0 1740 | M4 M3
¢A 50 1580 1340| B3 B2 5¢ N+1 T 620 1180 1740| Q4 Q5 24
K 50 158.0 134.0| H3 H18 5¢ S+1 #4 620 118.0 174.0| V4 V13 24
¢A 50 158.0 134.0| V3 V12 5¢ N+1 48 620 1180 1740| A5 A7 24
¢A .50 1580 1340| B4 Bl 5¢ N+1 T 620 1180 174.0| D5 D19
¢A 50 158.0 134.0| E4 E3 5¢ S+1 43 620 118.0 174.0| W5 W4 24
A 50 158.0 134.0| K4 K3 5¢ N+1 #3 620 1180 1740| Q6 Q3 24
4Q 50 158.0 134.0| M4 M3 620 118.0 174.0| V6 VIl 24
¢A 50 158.0 134.0| Q4 Q5 5¢ S+1 &5 620 118.0 1740 | W6 W2 1a
4Q 50 158.0 134.0| U4 U7 56 S+1 &7 620 118.0 174.0| H7 H25 24
#Q -50 158.0 134.0| A5 A1l 5¢ S+1 &T 620 118.0 1740| J7 J12 24
¢A 50 158.0 134.0| T5 T20 5¢ S+1 43 620 118.0 174.0| O7 012 2+
¢A 50 1580 134.0| D7 D13 5¢ N+1 T 620 1180 1740| T7 T4 2a
¢A 50 1580 1340| G7 Gl 5¢ S+1 #4 620 1180 1740| X8 X3 1a
4Q 50 158.0 134.0| Q7 Q2 5¢ S+1 #4 620 118.0 1740| E9 E1 24
¢A 50 158.0 134.0| E8 E6 5¢ S+1 43 620 118.0 174.0| H9 H16 24
#Q 50 1580 134.0| F8 F14 5¢ S+1 ¢4 620 1180 1740| 19 112 1
4Q -50 158.0 134.0| M8 M6 620 118.0 174.0|A10 A9 24
#K 50 1580 1340| C9 Cl1 56 S+1 3 620 118.0 174.0|C10 C5 2a
+8 .50 1580 134.0|L13 L8 5¢ S+1 #4 620 118.0 174.0 |F10 F1l 24
¢A 50 1580 1340|115 16 5¢ N+L T 620 118.0 174.0 |K10 K5 2a

110 128.0 164.0
+J 110 128.0 164.0
+J 110 128.0 164.0
+J 110 128.0 164.0
110 128.0 164.0
+J 110 128.0 164.0
+J 110 128.0 164.0
4 110 128.0 164.0
110 128.0 164.0
+J 110 128.0 164.0
+J 110 128.0 164.0
110 128.0 164.0
+J 110 128.0 164.0
110 128.0 164.0
+J 110 128.0 164.0
vA 110 128.0 164.0
128.0 164.0
+J 110 128.0 164.0
+J 110 128.0 164.0
vA 110 128.0 164.0
+J 110 128.0 164.0
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*A -50 158.0 134.0|L15 L6 5¢ S+1 47 620 118.0 174.0 |H11 H20 2 128.0 164.0
*A -50 158.0 134.0 [H16 H2 5¢ N+1 44 620 118.0 174.0|L14 L9 2e +J 110 128.0 164.0
*A -50 158.0 134.0 | T18 T27 5¢ S+1 #4 620 118.0 174.0|L17 L6 1a 1 ¢J 110 128.0 164.0
¢A -100 63.0229.0(L20 L1 5¢ S+1 #3 620 118.0 174.0(T28 T2 24 N= +3 110 128.0 164.0
¢A -100 63.0 229.0 (H25 H23 5¢ S+1 &4 620 1180 1740| F3 F6 3vO-1 4K 100 88.0 204.0
¢K -100 63.0229.0(T26 T7 5¢ S+1 43 620 118.0 1740| F4 F12 3v O-1 &K 100 88.0 204.0
¢+A -100 63.0 229.0( D1 D12 3N &5 600 67.0 225.0| D8 D14 2v O-1 &K 100 88.0 204.0
¢A -100 63.0 229.0( A2 A8 5¢ «J 600 67.0 2250 Q8 Q1 3v O-1 4K 100 88.0 204.0
¢A -100 63.0 229.0 | K2 K11 5¢ v2 600 67.0 2250 R8 R3 2v O-1 4K 100 88.0 204.0
¢+A -100 63.0 229.0( D4 D18 5¢ v2 600 67.0 225.0| W8 W3 3v O-1 #3 100 88.0 204.0
¢A  -100 63.02290( F4 F6 5¢ 47 600 67.0 225.0 (T19 T27 3v O-1 «T 100 88.0 204.0

¢A -100 63.02290( R6 R2 5¢
¢A -100 63.0 229.0( O7 012 5¢
¢A  -100 63.0 2290 R7 R1 5¢
¢A -100 63.0 229.0( D8 D15 5¢
¢A -100 63.0229.0( J8 J6 5¢
¢K -100 63.0 229.0( O8 O6 5¢
¢A -100 63.0 229.0( F9 F10 5¢
¢A -100 63.0229.0( 19 14 5¢
¢A -100 63.0229.0( O9 O1 5¢
aJ -100  63.0 229.0|J10 J5 5¢
+K -100 63.0 229.0 (T11 T23 5¢
¢A -100 63.0 229.0 (P12 P15 5¢
¢+K -100 63.0 229.0 (P13 P1 3N
¢+A -100 63.0 229.0(T13 T22 3N
¢K -100 63.0 229.0( 114 17 5
aJ -100  63.0 229.0 | T14 T4 5¢
¢A -100 63.0 229.0( 116 112 5e¢
¢A  -100 63.0229.0(L19 L2 5
¢A -100 63.0 229.0 (P20 P5 5¢
+K -100 63.0 229.0( A4 A10 3¢
¢K -100 63.0 229.0( N6 N3 3¢
¢A -100 63.0 229.0 (P19 P2 3¢
¢A -100 63.0 229.0( W5 W4 4¢
«Q -100 63.0 229.0( E2 E11 6+
aJ -100  63.0 229.0| N4 N5 6¢
+K -100 63.0229.0( G5 G4 6¢
¢+K -150 15.0 277.0( A6 Al 6+
¢K -150 15.0 277.0| E7 E12 5
¢A -150 15.0 277.0 X7 X1 6¢
¢A -150 1502770 G8 G3 6¢
¢A -150 15.0277.0( J9 J1 6¢
¢+A -150 15.0 277.0 (M10 M5

¢A -150 15.0 277.0 (V14 V1 6
¢A -150 15.0 277.0 (D22 D21 6+

+4 600 67.0 225.0 [ H2 H14 2
vT 600 67.0 225.0| X6 X2 2&
9 600 67.0 225.0 X7 X1 1IN
+5 600 67.0 225.0 | E8 E6 2¢
3 600 67.0 225.0 | P9 P16 2¢
#4600 67.0 225.0 [M10 M5

+4 600 67.0 225.0 (P11 P18 2¢
4 600 67.0 225.0| 114 18 1IN
+4 600 67.0 225.0 [ L15 L8 2&
+4 600 67.0 225.0( J2 J11 1e
&5 600 67.0 225.0| A2 A8 2
#4600 67.0 225.0( C3 C6 3
46 600 67.0 225.0 [ H4 H19 2
48 600 67.0 225.0| O4 O3 2¢
#4600 67.0 225.0( U4 U7 2&
+4 600 67.0 225.0| R6 R2 3
4 600 67.0 225.0| S6 S1 3e
#4600 67.0 225.0( T6 T21 2
600 67.0 225.0 | E7 E12 3
&4 170 42.0 250.0| M9 M1 3e
#4150 39.0 253.0( 09 O1 3N
vT 150 39.0 253.0( 111 13 1IN
vT 130 36.0 256.0 |P12 P4 3N
v7 -100 22.0 270.0|T12 T24 3e
4  -100 22.0 270.0 [F13 F2 3
v2 -100 22.0 270.0|T13 T25 34
«J -100 22.0 270.0 (P17 P5 2
4  -100 22.0270.0( B4 Bl 3
4 -100 22.0 270.0( J8 J6 3¢
43 -100 22.0 270.0 D10 D18 2
v2 -100 22.0 270.0|D15 D3 2
-100 22.0 270.0 ([T16 T17 2
-100 22.0 270.0 |H23 H6 2
¢4 -100 22.0 270.0 K4 K3 2v

vA 90 72.0 220.0
¢+A 90 72.0 220.0
72.0 220.0
v3 90 72.0 220.0
v3 90 72.0 220.0

90 72.0 220.0
vA 90 72.0 220.0
+2 90 72.0 220.0
¢A 90 72.0 220.0
*J 80 62.0 230.0
vA -50 44.0 248.0
*A -50 44.0 248.0
v3 -50 44.0 248.0
&4 -50 44.0 248.0
*A -50 44.0 248.0
*J -50 44.0 248.0
*J -50 44.0 248.0
+J -50 44.0 248.0
*J -50 44.0 248.0
*J -50 44.0 248.0
*2 -50 44.0 248.0
44.0 248.0
+3 -50 44.0 248.0
+J -50 44.0 248.0
*J -50 44.0 248.0
*J -50 44.0 248.0
+*J -50 44.0 248.0
2 -100 21.0 271.0
4 -100 21.0 271.0
+5 -100 21.0 271.0
42 -100 21.0 271.0
+5 -100 21.0 271.0
2 -100 21.0 271.0
¢+6 -110 10.0 282.0

wonnn
<>
w
[<e]
o

L e L L L 1 L L VO VO T L VR T VO
NN W
<
N

ALY T VY TSN U UL TN TNLIN
<
—|

R O O T T T P U T T T T T TN U SR AU TN [ T T
NNNNNNRRRRPPRPRPRRRRRRPRRRER

-

w

|

al

o

Z000O0NZONZ VONZOONDNZZNZOOOONZZONZZONOOOOHZZZOOOOOON

¢+A -150 15.0 277.0(T24 T25 6¢ S- 43 -100 22.0 270.0| H8 H13 2v O = 4K -110 10.0 282.0
s -150 15.0 277.0|T28 T1 6NN - 4  -100 220 270.0 (H17 H3 2v O= K -110 10.0 282.0

-150 15.0 277.0| X5 X4 7¢ S- 5 -200 5.0 287.0 |H18 H10 2v O = #4  -110 10.0 282.0
¢+A -150 15.0 277.0| H6 H24 7¢ S - &5 -200 5.0 287.0|P19 P3 2v O= 4K -110 10.0 282.0
«Q -150 1502770 18 111 64 S- a7 -200 502870 V8 V9 2v O+1 4T -140 3.0 289.0
¢A -150 15.0 277.0(T17 T8 74 S- v2 -200 5.0 287.0| F9 F14 3v O= T -140 3.0 289.0
aJ -200 0.0 292.0| S6 S1 7NN- 46 -300 0.0 292.0| D2 D13 3NS- 2 -200 0.0 292.0
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J4 - 117.8 J4 - 117.8 D1 - 174.1

M7 - 192.5 M7 - 192.5 J4 - 117.8
- N1 112.0 - N1 112.0 | M7 - 192.5
- E5 179.7 - E5 179.7 - N1 112.0
- D6 1455 - D6 1455 - E5 179.7
- A7 139.4 - A7 139.4 - Al 175.3
- n 195.8 - 11 195.8 - 12 140.1

4 Vast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

S6 S2 24DO-2 «A 500 292.0
Q8 Q2 24 V-3 vK 300 290.0
K3 K11 24 V-2 vK 200 286.0
C4 C7 INO-2 v2 200 286.0
A6 A8 1a V-2 vK 200 286.0
S1 S5 INS+2 ¢8 150 280.0

14 16 54D O-5 «Q 1400 292.0
S2 S4 54DO-4 48 1100 289.0
H23 H6 5#DO-4 48 1100 289.0
G7 G1 44DO-3 8 800 286.0
D8 D14 3vDS= 8 730 284.0
B3 B2 3NN+1 &Q 630 282.0

T15 T24 2¢DV-5 «J 1100 292.0
K3 K11 3vyDV-2 «Q 300 290.0
T20 T27 3¢ V-4 5 200 288.0
A6 A8 INN+3 «6 180 284.0
V7 V12 2NS+2 ¢4 180 284.0
P15 P2 INN+3 v6 180 284.0

S+1 a4 170 2340
S+1 &4 170 2340
N+l #A 140 224.0
S= &5 140 2240
S+1 &5 140 2240
S+1 &7 140 2240
49 140 2240
a4 140 2240
#Q 140 2240
110 2140
«Q 110 2140
+8 110 2140

D2 D12 2NN= &7 120 216.0
L2 L4 2NS= v5 120 216.0
A3 A9 INS+1 2 120 216.0
S3 S5 INN+1 &5 120 216.0
B4 B2 INN+1 &7 120 216.0
G4 G8 INN+1 ¢2 120 216.0
T4 T2 INN+1 &5 120 216.0
L6 L19 INN+1 v2 120 216.0
T7 T22 INN+1 v6 120 216.0
H8 H12 INS+1 ¢4 120 216.0

18 115 INN+1 v6 120 216.0
J8 J12 INN+1 &5 120 216.0

110 237.0
5 110 237.0
5 110 237.0
K 110 237.0
5 110 237.0
5 110 237.0
v5 100 218.0
#A 100 218.0
218.0
vK 100 218.0
v5 100 218.0
+8 90 184.0

P20 P7 2

1

P1 P15 4v S= 42 620 266.0 K1 K7 INS+2 ¢2 150 263.0 F2 F9 INN+2 #Q 150 2800 1
Ul U3 4v S= 4 620 266.0 03 011 2¢ V-3 «Q 150 263.0 03 011 INS+2 &5 150 2800 1
D5 D19 4v S= +8 620 266.0 R4 R8 440-3 «A 150 263.0 V9 V10 3v S= oK 140 2730 1
N6 N3 4v N= «Q 620 266.0 W4 W8 INN+2 &5 150 263.0 U0 U2 2vS+1 5 140 2730 1
S6 Sl1 4v S= 4 620 266.0 G6 G5 2¢ V-3 «Q 150 263.0 116 12 2vS+1 #5 140 2730 1
X6 X2 4v S= 44 620 266.0 S6 S1 INS+2 2 150 263.0 D20 D19 2v S+1 &5 140 2730 1
U7 U6 4v S= 46 620 266.0 W6 W5 2NS+1 ¢2 150 263.0 D1 D22 2NN = «Q 120 2600 3
W7 W1 4v S= 42 620 266.0 A7 A4 INN+2 &5 150 263.0 L6 L19 INN+1 &7 120 260.0 3
G8 G3 4v S= 44 620 266.0 N7 N4 2NN+1 v6 150 263.0 X6 X5 INS+1 &K 120 260.0 3
X8 X3 4v S= +8 620 266.0 Q7 Q4 INN+2 +2 150 263.0 Q7 Q4 INS+1 «J 120 2600 3
D10 D18 4v S= 47 620 266.0 K8 K12 INS+2 ¢2 150 263.0 U7 U6 INS+1 8 120 260.0 3
H11l H20 4v S= 42 620 266.0 T8 T5 1¢ V-3 9 150 263.0 110 11 INS+1 &K 120 260.0 3
T12 T24 4v S= 42 620 266.0 K10 K6 2NS+1 ¢2 150 263.0 P14 P8 INS+1 &K 120 2600 3
P14 P7 4v S= +8 620 266.0 P14 P8 INN+2 46 150 263.0 P15 P2 INS+1 &K 120 260.0 3
L17 L6 4y N= «Q 620 266.0 D16 D4 3v V-3 «J 150 263.0 L18 L7 INS+1 &K 120 260.0 3
T16 T17 3NN-= «Q 600 250.0 L16 L9 INS+2 +2 150 263.0 D2 D12 2v S= 5 110 2370 5
H18 H10 34 O-3 48 300 248.0 2NS+1 ¢4 150 263.0 J5 J4 2vS= 5 110 2370 5
N4 N5 44DV-1 v7 200 242.0 T28 T3 2NN+1 &7 150 263.0 U5 U8 24 N= +Q 110 2370 5
R5 R4 54DV-1 ¢K 200 2420 E1l E7 INN+1 2 120 216.0 V5 V1 2v S= 4K 110 2370 5
A6 A3 54DV-1 #A 200 2420 Gl G3 INN+1 ¢2 120 216.0 G6 G5 2v S= K 110 2370 5
N7 N2 54DV-1 &K 200 242.0 N1 N3 INN+1 &5 120 216.0 = &5 110 2370 5
P13 P2 44DV-1 #A 200 242.0 Q1 Q3 INN+1 «6 120 216.0 C8 Cl1 2vS= 5 110 2370 5
J5 J4 S+1 8 170 234.0 Ul U3 INN+1 &5 120 216.0 J9 J2 2vS= K 110 2370 5
5

5

5

5

5

5

7

7

7

7

7
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El E7 44 V-1 #A 100 208.0 E9 E2 INN+1 #6 120 216.0 Gl G3 a7 90 184.0

C3 C5 54 V-1 K 100 208.0 M9 M2 120 216.0 Q1 Q3 «Q 90 184.0 108.0
T6 T21 44 O-1 &K 100 208.0 09 02 INN+1 #3 120 216.0 Ul U3 43 90 184.0 108.0
K3 K11 2% O = 48 -90 204.0 P9 P11 INN+1 v6 120 216.0 D3 D14 +Q 90 184.0 108.0
K1 K7 4v S-1 46 -100 177.0 1150 U9 U4 INN+1 &A 120 216.0 M3 M11 90 184.0 108.0
V1l V3 4v S-1 4 -100 177.0 1150( V9 V10 INN+1 2 120 216.0 G4 G8 «Q 90 184.0 108.0
D2 D13 4v N-1 «Q -100 177.0 115.0(C10 C6 INS+1 8 120 216.0 S4 S8 «Q 90 184.0 108.0
F3 F6 4v S-1 7 -100 177.0 115.0( 110 11 INS+1 ¢4 120 216.0 N5 N6 v4 90 184.0 108.0
M3 M11 -100 177.0 115.0 |F11 F12 INN+1 2 120 216.0 05 04 «Q 90 184.0 108.0

7 -100 177.0 115.0(T14 T25 INN+1 &5 120 216.0 &J 90 184.0 108.0

P N N N N N N N N N N P PN N N PN N N N N N N N N P N P N N I I T N N T N T T T T T ST TN TN
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F5 F7 - 5 -100 177.0 115.0(H18 H4 INN+1 6 120 216.0 P6 P17 «Q 90 184.0 108.0
G5 G4 - «Q -100 177.0 1150 (L20 L3 INN+1 &5 120 216.0 A7 A4 7 90 184.0 108.0
X5 X4 - 4 -100 177.0 1150 F2 F9 24 S= vA 110 180.0 112.0| T7 T22 &J 90 184.0 108.0
V6 V11 - +8 -100 177.0 1150 F4 F7 14 S+1 5 110 180.0 112.0| E8 E12 7 90 184.0 108.0
W6 W2 - 42 -100 177.0 115.0| H5 H20 24 S= 9 110 180.0 112.0( 18 115 «Q 90 184.0 108.0

7 -100 177.0 115.0( M5 M4

S

S

110 180.0 112.0| O8 012
42 -100 177.0 1150 O5 O4 2¢ N
S
S

«Q 90 184.0 108.0
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4v 1

4v 1

4v 1

4v 1

5v 1

S5v 1

4v 1
17 115 5v S-1 +1 &7 110 180.0 112.0( H9 H14 184.0 108.0
X7 X1 3% 1 &Q -100 177.0 115.0 (D10 D17 14 S+1 &4 110 180.0 112.0| K9 K2 &Q 90 184.0 108.0
H9 H16 2v N-1 «Q -100 177.0 115.0( 111 16 24 S= &Q 110 180.0 112.0 |C10 C6 *J 90 184.0 108.0
K9 K2 4v S-1 a4 -100 177.0 115.0| D3 D14 4vDO-1 «A 100 168.0 124.0 (K10 K6 «Q 90 184.0 108.0
09 02 2v N-1 «Q -100 177.0 115.0| D5 D18 1¢ V-2 9 100 168.0 124.0| 111 16 +8 90 184.0 108.0
Cl0 C6 4v S-1 a7 -100 177.0 115.0| R6 R5 3v V-2 «Q 100 168.0 124.0| 112 14 4K 90 184.0 108.0
T14 T23 4v S-1 +8 -100 177.0 115.0 |P18 P12 2v O-2 A 100 168.0 124.0 (F13 F3 «Q 90 184.0 108.0
L15 L8 4v S-1 +8 -100 177.0 115.0|P20 P7 2¢ V-2 «J 100 168.0 124.0 | L17 L8 +8 90 184.0 108.0
H17 H3 4v S-1 49 -100 177.0 115.0| B1 B3 INN= &5 90 130.0 162.0 |[H18 H4 a] 90 184.0 108.0
L20 L2 4v S-1 a4 -100 177.0 1150| J1 J7 INN= a4 90 130.0 162.0 [ T20 T27 a7 90 184.0 108.0
T20 T22 4v S-1 a7 -100 177.0 115.0| O1 O7 2¢ N= a2 90 130.0 162.0 | T21 T23 +Q 90 184.0 108.0
D21 D20 4v S-1 a4 -100 177.0 115.0| P1 P5 2¢ N= &6 90 130.0 162.0 ([H24 H7 «Q 90 184.0 108.0
D22 D6 4v N-1 &Q -100 177.0 1150 W1 W3 INN= &5 90 130.0 162.0( M5 M4 80 154.0 138.0
T26 T8 5v S-1 a2 -100 177.0 115.0| X1 X3 INN= v6 90 130.0 162.0| O1 O7 -1 +Q -50 112.0 180.0
F1 F8 3« V= v7 -140 149.0 143.0| V2 V4 INN= &5 90 130.0 162.0| T1 T13 -1 +8 -50 112.0 180.0
08 012 34 V= &A -140 149.0 143.0| C3 C5 INN= &9 90 130.0 162.0 { W1 W3 -1 s K -50 112.0 180.0
H1 H12 4v N-2 &#Q -200 125.0 167.0| E3 E11 2¢ N= &A 90 130.0 162.0| X1 X3 -1 +Q -50 112.0 180.0
Ql Q3 4vS-2 +8 -200 125.0 167.0| E5 E4 INN= &6 90 130.0 162.0| V2 V4 -1 +8 -50 112.0 180.0
E3 E11 34 V+2 &A -200 125.0 1670 F5 F1 2¢ S= &Q 90 130.0 162.0( C3 C5 -1 &T -50 112.0 180.0
S3 S5 4v N-2 L Y -200 125.0 167.0| K5 K4 INS= 49 90 130.0 162.0| E3 E11 -1 T -50 112.0 180.0
A4 All 4v S-2 +8 -200 125.0 167.0| L5 L1 INN= a7 90 130.0 162.0 | H3 H15 -1 s K -50 112.0 180.0
H4 H19 5v S-2 a2 -200 125.0 167.0| V5 V1 INN= &6 90 130.0 162.0( F4 F7 -1 +Q -50 112.0 180.0
M5 M4 -200 125.0 167.0| F6 F8 INN= &6 90 130.0 162.0| P4 P19 -1 +8 -50 112.0 180.0
Q5 Q6 4v N-2 &#Q -200 125.0 167.0( P6 P17 INN= &6 90 130.0 162.0 | W4 W8 -1 LJe) -50 112.0 180.0
W5 W4 4v S-2 &#Q -200 125.0 167.0| X6 X5 INN= &6 90 130.0 162.0| X4 X8 -1 *T -50 112.0 180.0
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P6 P20 4v N-2 &2 -200 125.0 167.0| U7 U6 INN= #6 90 130.0 162.0( A5 Al 1a N-1 #Q  -50 112.0 180.0
V7 V10 4v N-2 5 -200 125.0 167.0 X7 X2 INN= «5 90 13001620 I5 17 INN-1 a4 -50 112.0 180.0
W8 W3 4v S-2 4 -200 1250 1670 Q8 Q2 INN-= «5 90 130.0 1620 F6 F8 2NN-1 +Q -50 112.0 180.0
C9 C2 4vyN-2 «A -200 125.0 167.0| H9 H14 INN= v6 90 130.0162.0( R6 R5 INS-1 T -50 112.0 180.0
P9 P16 24 V+3 &K -200 125.0 167.0| 19 114 INN= 6 90 130.0 1620 W6 W5 2v S-1 »5 -50 112.0 180.0
U9 U4 5v S-2 42 -200 1250 167.0( J9 J2 INN= v2 90 130.01620| G7 G2 2v S-1 »5 -50 112.0 180.0
F10 F11 4v S-2 47 -200 1250 1670 K9 K2 INN-= v2 90 130.0 162.0| N7 N4 INS-1 T -50 112.0 180.0
L10 L13 5v S-2 5 -200 125.0 167.0(J10 J6 INN= «5 90 130.0 1620 X7 X2 INN-1 *Q -50 112.0 180.0
111 I3 24 V+3 v7 -200 125.0 167.0| A1l A10 INN= «6 90 130.0 162.0| K8 K12 2NN-1 vQ -50 112.0 180.0
D12 D7 4vy N-2 %2 -200 1250 167.0| 112 14 INN= #5 90 130.01620( C9 C2 INN-1 #Q -50 112.0 180.0
T19 T27 24 V+3 #A -200 125.0 167.0|P13 P3 INN= «6 90 130.0 162.0( D9 D15 2NN -1 *Q -50 112.0 180.0
H21 H5 4v N-2 #Q -200 1250 167.0(L17 L8 INS= ¢4 90 130.0 1620( E9 E2 2vS-1 »5 -50 112.0 180.0
H24 H22 59y N-2 ¢A -200 1250 167.0|L18 L7 INN= #6 90 130.0162.0( 19 114 2¢ N-1 #Q  -50 112.0 180.0
FO F14 34 V+3 #A -230 102.0 190.0 [H19 H11 INN= «5 90 130.0 1620( P9 P11 INN-1 *Q -50 112.0 180.0
J1 J7 3#N-3 A -300 97.0 1950 (D20 D19 INN-= «5 90 130.0 162.0(J10 J6 INN-1 *Q -50 112.0 180.0
H8 H13 5v N-3 #Q -300 97.0195.0|T26 T9 INN= #6 90 130.0 162.0(010 O6 INN-1 #Q  -50 112.0 180.0
J8 J12 5v N-3 #Q -300 97.0 195.0| M3 M1l 80 92.0 200.0 (P10 P16 2¢ N-1  #Q -50 112.0 180.0
M9 M2 -300 97.0 195.0| U5 U8 1a S= +9 80 92.0 200.0 |F11 F12 2NN-1 *Q -50 112.0 180.0
A2 A8 4¢ N-4 vA -400 90.0 2020| V8 VIl 1a S= 49 80 92.0 200.0 (D13 D8 2NN-1 &8 -50 112.0 180.0
Q7 Q4 6NS-4 «Q -400 90.0 202.0 (D13 D8 1 S= «Q 80 92.0 200.0 [ L13 L12 INS-1 +8 -50 112.0 180.0
J9 J2 3#N-4 43 -400 90.0 202.0(H22 H6 14 S= «Q 80 92.0 200.0|P13 P3 INS-1 +] -50 112.0 180.0
K5 K4 4¢vDS-2 4 -500 85.0207.0] M1 M7 50 82.0 210.0 |F14 F10 INS-1 +J -50 112.0 180.0
P8 P10 3NN-5 3 -500 85.0207.0(V13 V6 2v V-1 «Q 50 82.0 210.0(T14 T25 2v S-1 »5 -50 112.0 180.0
H2 H14 44 V= v7 -620 78.0 2140|F14 F10 2v O-1 #3 50 82.0 210.0 | T17 T18 2NN-1 *Q -50 112.0 180.0
T3 T1 44 V= A -620 78.0 2140(L15 L10 2vO-1 «A 50 82.0 210.0 |P18 P12 INN-1 *Q -50 112.0 180.0
T10 T11 44 V= v7 -620 78.0 214.0|H23 H21 3v O-1 &J 50 82.0 210.0 (H19 H11 INN-1 *Q -50 112.0 180.0
P11 P18 44 V= #A  -620 78.0 214.0( H2 H13 24 V= s A 90 76.0 216.0(T19 Ti10 2NS-1 +K -50 112.0 180.0
P12 P4 44 V= vK -620 78.0 214.0| D1 D22 3NN-1 #5 -100 550 237.0(L20 L3 INN-1 *Q -50 112.0 180.0
R6 R2 54 O= #A -650 68.0 2240 H1 H25 INN-1 5 -100 55.0237.0(T26 T9 INS-1 +Q -50 112.0 180.0
K8 K12 44 V+1 #A -650 68.02240( R1 R3 2NN-1 «5 -100 550 2370( J1 J7 INO= v2 -90 62.0 230.0
T13 T25 44 V+1 #A -650 68.0 2240 H3 H15 INN-1 &6 -100 55.0 237.0( M1 M7 -90  62.0 230.0
D15 D3 44 O+1 &6 -650 68.0224.0| P4 P19 INN-1 5 -100 5502370 R1 R3 INV= v2 -90 62.0 230.0
T15 TS5 5e4 V= vJ -650 68.02240| IS5 17 24 S-1 ¢4 -100 5502370 B4 B2 INO= v2 -90 62.0 230.0
I1 116 44 V+2 #A -680 56.02360| J5 J4 INN-1 &7 -100 550 237.0| H5 H20 INO= v2 -90  62.0 230.0
U5 U8 44 V+2 &A -680 56.0236.0( G7 G2 14 S-1 vA -100 55.0237.0| L5 L1 INO= v2 -90 62.0 230.0
G6 G2 44 O+2 ¢4 -680 56.0236.0| R7 R2 INN-1 «5 -100 550 237.0(T11 T12 INO= v2 -90 62.0 230.0
V8 V9 54 V+1 #A 680 56.0236.0| C8 Cl 24S-1 +8 -100 550 237.0|Vi3 V6 INO= v4 -90  62.0 230.0
19 112 44 V+2 &#A -680 56.0 236.0| C9 C2 INN-1 7 -100 55.0237.0(L15 L10 INO= v7 -90 62.0 230.0
L14 L9 44 V+2 &A -680 56.0 236.0|H10 H17 34 S-1 8 -100 550 237.0( B1 B3 3NN-2 «Q -100 35.0 257.0
T28 T2 44 V+2 &K -680 56.0236.0M10 M6 3¢ N-1 v6 -100 55.0237.0( H1 H25 2NN-2 #Q -100 35.0 257.0
Ol O7 44DV= &A -790 43.0249.0(T11 T12 24 S-1 9 -100 55.0237.0( K1 K7 INN-2 «Q -100 35.0 257.0
03 011 44DV= &A -790 43.0249.0|Vvi4 V3 3NS-1 v9 -100 55.0237.0| P1L P5 2NN-2 «Q -100 35.0 257.0
FA F12 44DV = T -790 43.0249.0| 116 12 2NS-1 v5 -100 55.0 237.0| H2 H13 3#N-2 47 -100 35.0 257.0
A5 A7 44DV= &A -790 43.02490|T16 T6 24 S-1 9 -100 5502370 L2 L4 3#N-2 ¢Q -100 35.0257.0
L12 L11 44DV= v7 -790 43.0 249.0|T17 T18 24 S-1 8 -100 5502370 A3 A9 3#N-2 ¢Q -100 35.0 257.0
F13 F2 44DV= &A -790 43.0 249.0(T19 T10 3¢ N-1 #7 -100 550 237.0( D5 D18 24 N-2 #Q -100 35.0 257.0
O5 04 34DN-3 #A -800 33.0259.0(H24 H7 2NN-1 5 -100 5502370 F5 F1 3v S-2 K -100 35.0 257.0
JI0 J6 6vDS-3 4Q -800 33.0259.0| S2 S4 2v O= A -110 31.0 261.0 W7 W2 2NN -2 «Q -100 35.0 257.0
010 06 5vDS-3 42 -800 3302590 N5 N6 2vO= 4A -110 31.0261.0| H8 H12 3#N-2 ¢Q -100 35.0 257.0
114 18 5vDS-3 7 -800 33.0259.0( O8 012 1vO+1 &4A -110 31.0261.0| T8 TS5 3¢ S-2 «Q -100 35.0 257.0
M10 M6 54DO= 9 -850 26.0 266.0|010 O6 2v V= «J -110 310 261.0( V8 V11 2NN-2 3 -100 35.0 257.0
V12 V5 54DV= &A -850 26.0266.0 C4 C7 2vV+l #J -140 23.0269.0/ 09 O2 24N-2 v4 -100 350 257.0
P17 P5 54DV= #&A -850 26.0 266.0| X4 X8 3v O oA -140 23.0269.0( U9 U4 2NN-2 T -100 35.0 257.0
L1 L3 44DV+1 #A -990 19.0 273.0(U10 U2 3v O «K -140 23.0 269.0 [M10 M6 2NN -2 «J -100 35.0 257.0

o) 24D

(0] 24 N

S Z Y

S )

N N

N o)

N S

S N

S N

S N

S D

C4 C7 44DO+1 &K -990 19.0 273.0|F13 F3 3v A -140 23.0 269.0 [All AlO -1 ¢Q -100 35.0 257.0
D4 D17 44DV +1 #A -990 19.0 273.0|L11 L14 3v 1 A -170 180 2740(T16 T6 -2 #Q -100 35.0 257.0
110 15 44DO+1 #A -990 19.0 273.0| T1 T13 34 S-2 v9 -200 10.0 2820| T4 T2 = vK -110 16.0 276.0
M1 M7 -1050 11.0 281.0| A5 Al 24 S-2 49 -200 1002820 R7 R2 INO+1 A -120 14.0 278.0
R8 R3 54DV+1 #A -1050 11.0 281.0 | W7 W2 3NN -2 «5 -200 10.0 2820 E5 E4 3NN-3 «Q -150 8.0 284.0
D9 D16 54DV +1 #A -1050 11.0 281.0| E8 E12 3N N-2 #5 -200 10.0 2820 K5 K4 INO+2 &A -150 8.0 284.0
T18 T9 54DV +1 &#A -1050 11.0 281.0| D9 D15 INN-2 #6 -200 10.0 282.0( J8 J12 2NS-3 K -150 8.0 284.0
Ul0 U2 34DN-4 #Q -1100 6.0 286.0 |P10 P16 24 S-2 «Q -200 10.0 282.0(V14 V3 3NN-3 «Q -150 8.0 284.0
E9 E2 44DV +2 #A -1190 3.0 289.0 | L13 L12 34 S-2 49 -200 10.0 282.0(T28 T3 3NN-3 «Q -150 8.0 284.0
V14 V2 44DV +2 #A -1190 3.0289.0| Q5 Q6 2NS-3 +3 -300 102910 R4 R8 3NN-4 #Q -200 2.0 290.0
B4 Bl 44RDV+1&A -1480 0.0 292.0 | T21 T23 3# S-3 «4  -300 1.0 291.0|L11 L14 3#DN-2 ¢Q -300 0.0 292.0
D1 - 174.1 - Ji 190.4 - Jil 190.4
- J11 190.4 | M8 - 139.1 M8 - 139.1
M8 - 139.1 - N2 162.1 - N2 162.1
- N1 112.0 - E6 159.1 - E6 159.1
- E6 159.1 - D7 119.0 - D7 119.0
- Al 175.3 - A2 152.5 - A2 152.5
- 12 140.1 - 13 183.5 - 13 183.5
7 Syd Alla 8 Vst Ingen 9 Nord OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
A4 A10 5v O-3 ¢A 300 2900 20(P14 P9 3v N= #A 140 2920 0.0(V10 V13 74DS= ¢J 1770 292.0 0.0
L14 L13 3NV-3 ¢T 300 2900 20| S1 S5 2¢vN= 6 110 2880 40| X8 X5 74 S= +J 1510 290.0 2.0
T20 T11 3NV-3 ¢T 300 2900 2.0(KIL0O K7 2v N= ¢A 110 2880 40| 11 18 64 N+1 8 1010 284.0 8.0
V3 V5 3NV-2 ¢T 200 2760 16.0(L20 L4 2v N= +Q 110 2880 40| T6 T4 64 N+1 v6 1010 284.0 8.0
T5 T3 3NV-2 ¢+9 200 2760 16.0| D1 D21 5¢DV-1 46 100 273.0 190| R8 R5 64 N+1 v6 1010 284.0 8.0
A6 A2 3NV-2 6 200 2760 16.0| E1 E12 5¢ O-2 ¢8 100 273.0 19.0|T18 T8 64 S+1 v2 1010 284.0 8.0
D6 D20 3NV -2 ¢7 200 2760 160 Q1 Q5 4¢DV-1 46 100 273.0 19.0|P20 P9 64 S+1 ¢J 1010 284.0 8.0
P8 P20 54 V-2 T 200 2760 16.0( B4 B2 34 O-2 8 100 273.0 19.0( D5 D16 6NS= 44 990 278.0 14.0
T8 T23 3NV -2 5 200 2760 160| F5 F8 5¢ V-2 v6 100 273.0 19.0| R1 R6 64 S= +J 980 271.0 21.0
P10 P12 44 O-2 ¢A 200 2760 16.0| K6 K5 5¢ V-2 vT 100 273.0 19.0| A2 Al 64 N= 46 980 271.0 21.0
111 12 3NV-2 T 200 2760 160| S6 S2 44 O-2 vJ 100 273.0 19.0| M2 M8 980 2710 21.0
V14 V4 3NV-2 ¢T 200 276.0 16.0 (010 O7 44DO-1 ¥vJ 100 273.0 19.0| F4 F11 64 S= &7 980 271.0 21.0
T15 T25 3NV -2 ¢+9 200 276.0 16.0(D12 D8 5¢DO-1 4K 100 273.0 19.0| M6 M5 980 271.0 21.0
T26 T10 3NV -2 ¢T 200 2760 16.0(L14 L13 5¢ O-2 2 100 273.0 19.0|J10 J7 6¥ S= 5 980 271.0 21.0
11 15 3NO-1 47 100 248.0 44.0|D19 D18 44 O-2 vJ 100 273.0 19.0( E1 E12 44 N+3 &7 510 245.0 47.0
E2 E8 6vyO-1 ¢A 100 248.0 44.0|T20 T11l 44 O-2 vJ 100 273.0 19.0| K1 K12 44 N+3 v6 510 245.0 47.0
J2 J8 3NV-1 ¢7 100 248.0 44.0| Al All 4¢ V-1 vT 50 246.0 46.0| O1 O12 44 N+3 v6 510 245.0 47.0
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L3 L5 4vO+1 48 -650 51.0241.0|E1l E4 4vDN-2 ¢Q -300 81.0211.0|K11 K4 3NS-= vT 400 74.0 218.0
B4 B2 4vO+1 A -650 51.0241.0|P13 P4 4vDN-2 #A -300 81.0211.0|F12 F14 3NS= vT 400 74.0 218.0
G4 G8 4v O+1 ¢J -650 51.0241.0|D22 D7 4vDN-2 ¢3 -300 81.0211.0|P13 P5 3NS= v2 400 74.0 218.0
R4 R8 4v O+1 A -650 51.0241.0(H22 H20 4vDN-2 ¢Q -300 81.0 211.0|T17 T14 3NS= vJ 400 74.0 218.0
W4 W8 4v O+1 v2 -650 51.0 241.0| J1 J12 3NO= 9 400 49.0 243.0(T21 T12 3NS= vJ 400 74.0 218.0
X4 X8 4v V+1 T -650 51.0241.0| R1 R3 3NO= vJ -400 49.0 243.0|T22 T27 3NS= v2 400 74.0 218.0
G6 G5 4v O+l +A -650 51.02410( Ul U5 3NO= vJ -400 49.0 243.0|T28 T5 2¢ N+4 &7 170 62.0 230.0
H6 H21 4v O+1 +¢A -650 51.0241.0| G4 G8 3NO= vJ -400 49.0 243.0| D7 D21 3# S= vT 110 60.0 232.0
16 18 4y O+1 ¢A -650 51.0241.0| H4 H16 3NO= vJ -400 49.0 243.0| D1 D20 54 S-1 *J -50 49.0 243.0
Q6 Q7 4vO+1 +A -650 5102410 A6 A2 3NO= vJ -400 49.0 2430| L1 L9 64 S-1 Ly -50  49.0 243.0
A7 A9 4v O+l ¢A 650 51.02410| L6 L2 3NO= oK -400 49.0 243.0( N1 N5 64 N-1 v9 -50  49.0 243.0
N7 N4 4v O+1 2 -650 5102410 U6 U9 3NO= vJ -400 49.0 243.0| H2 H25 44 N-1 v7 -50 49.0 243.0
Q8 Q3 4vO+1 +A -650 5102410 V6 V2 3NV= v9 -400 49.0 243.0| 12 16 64 N-1  &T -50  49.0 243.0
Uug U7 4v O+1 ¢A -650 5102410 L7 L1 3NV= v2 400 49.0 243.0| U2 U4 74 S-1 *5 -50  49.0 243.0
C9 C3 4v0O0+1 ¢A -650 51.02410| X7 X2 3NO= &7 400 49.0 243.0| X7 X3 54 S-1 vT -50 49.0 243.0
H9 H13 4v O+1 #8 -650 51.0241.0( V8 V13 3NO= 48 -400 49.0 2430 V9 V1 74 S-1 +*J -50  49.0 243.0
K9 K3 4v0O0+1 +A -650 51.0241.0(D10 D16 3NO = 4K -400 49.0 243.0 (M11 M4 -50  49.0 243.0
110 114 4v O+1 &8 -650 51.0241.0(J10 J7 3NO= vJ -400 49.0 2430|116 14 44 S-1 v2 -50 49.0 243.0
J10 J7 4v O+1 #2 -650 51.0241.0(M11 M4 3NV= v6 -400 49.0 243.0| B2 Bl 64 N-2 #4 -100 22.0 270.0
D12 D8 4v O+1 42 -650 51.02410(L19 L8 3NO= &7 400 49.0 243.0| X2 X4 64 N-2 v7 -100 22.0 270.0
112 17 44 O+1 +A -650 51.0241.0(H23 H7 3NO= &7 400 49.0 2430 C4 C6 64 S-2 46 -100 22.0 270.0
F13 F4 49y O+1 ¢A -650 51.0241.0|H25 H8 3NV= v5 -400 49.0 243.0| A7 A3 44 S-2 v2 -100 22.0 270.0
P14 P9 4v O+1 ¢A -650 51.0241.0|T21 T27 44 O= v8 -420 30.0 262.0| R7 R3 64 N-2 &9 -100 22.0 270.0
115 19 4vO+1 ¢J -650 5102410 N1 N3 3NO+1 &K -430 15.0277.0| W7 W3 64 S-2 +J -100 22.0 270.0
T16 T13 4v O+1 ¢A -650 51.02410| V1 V7 3NO+1 4K -430 15.0277.0| F8 F10 64 S-2 +J -100 22.0 270.0
L17 L10 4v O+1 48 -650 51.0241.0| W1 W3 3NO+1 &K -430 15.0277.0| U8 U7 64 S-2 v6 -100 22.0 270.0
L18 L9 4v O+1 &8 -650 5102410 K2 K8 3NO+1 &K -430 15.0277.0| T9 T24 64 S-2 vT -100 22.0 270.0
P19 P5 4v O+1 ¢A -650 51.02410| V3 V5 3NO+1 &K -430 15.0277.0|K10 K7 64 S-2 v2 -100 22.0 270.0
L20 L4 49 O+1 &8 -650 51.02410| R4 R8 3NV+l1 ¢9 -430 15.0 277.0|M10 M7 -100  22.0 270.0
H23 H7 49 O+1 ¢A -650 51.0241.0| Q6 Q7 3NO+1 &K -430 15.0 277.0 (D15 D10 64 S-2 +J -100 22.0 270.0
Gl G3 3NO+2 48 -660 7.0 285.0| H9 H13 3NV+l1 v6 -430 15.0 277.0|L15 L14 64 N-2 v7 -100 22.0 270.0
H1 H24 3NO+2 v2 -660 7.0 285.0( K9 K3 3NV+l 3 -430 15.0 277.0(D18 D17 64 S-2 vJ -100 22.0 270.0
V6 V2 3NO+2 42 -660 7.0 285.0| 110 114 3NO+1 &K -430 150 277.0|L18 L11 64 S-2 46 -100 22.0 270.0
L7 L1 3NV+2 &3 -660 7.0 285.0 |M10 M7 B -430 15.0 277.0|H23 H1 64 N-2 v6 -100 22.0 270.0
V8 V13 3NO+2 42 -660 7.0 285.0 (P15 P3 3NO+1 &K -430 15.0277.0(T25 T16 64 S-2 vJ -100 22.0 270.0
T9 T6 3NO+2 47 -660 7.0 285.0|L16 L11 3NO+1 +J -430 150 277.0| D2 D22 6NS-3 v2 -150 3.0 289.0
V10 V11 3NV +2 43 -660 7.0 2850|L18 L9 3NO+1 &K -430 1502770 O6 O5 44 S-3 v2 -150 3.0 289.0
P15 P3 3NO+2 42 -660 7.0 285.0|D17 D5 3NDS-5 ¢A -1100 0.0 292.0| C1 C2 64 S-4 +J -200 0.0 292.0
M1 - 134.2 M1 - 134.2 M1 - 134.2
D2 - 132.0 D2 - 132.0 - N3 133.2
- N2 162.1 - N2 162.1| J9 - 148.4
J9 - 148.4 J9 - 148.4 - E7 119.8
- E7 119.8 - E7 119.8 - D8 138.9
- A3 153.7 - A3 153.7 - A4 135.7
- 4 170.3 - 14 170.3 - 15 98.0
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
R8 R5 7¢vDS= 7 2470 2920 00| L1 L11 4v¥N+1 v6 450 291.0 10| X8 X5 44DS+1 vQ 990 2920 0.0
D1 D20 7NN= #0Q 2220 268.0 24.0|T25 T17 4v N+1 &J 450 291.0 10|T22 T1 44 S= v8 620 2900 2.0
F1 F2 7NS= a5 2220 2680 24.0| G2 G4 4y N= &#A 420 2850 7.0 H8 H23 5vDV-2 «4A 300 2870 5.0
11 18 7INS= a4 2220 2680 24.0( L5 L7 4v N= ¢7 420 2850 7.0( 114 112 5vDV-2 &T 300 287.0 5.0
L1 L9 7NS= #9 2220 268.0 24.0( J7 J6 4y N= v4 420 2850 7.0/ B2 Bl 3NO-4 «Q 200 284.0 8.0
B2 Bl 7NS= 43 2220 268.0 24.0 (H11 H15 4v N= ¢T 420 2850 70| P4 P8 4v V-3 T 150 282.0 10.0
G2 G4 7NN= a5 2220 268.0 24.0 D17 D16 3NS= ¢+K 400 280.0 12.0| N2 N4 34 S= vA 140 275.0 17.0
U2 U6 7NS= a5 2220 2680 240 F1 F14 3vS+2 #J 200 270.0 220| O3 Ol 34 S= +4 140 275.0 17.0
D3 D12 7NS= vJ 2220 268.0 24.0| H1 H22 3v N+2 9 200 2700 220( U3 U5 24 S+1 ¢2 140 275.0 17.0
03 01 7NS= a7 2220 2680 240 X1 X6 3v N+2 ¢4 200 270.0 220( M9 M4 140 275.0 17.0
L4 L6 7TNS= vJ 2220 268.0 24.0| U2 U6 3vy N+2 v6 200 270.0 22.0|D12 D9 34 S= +9 140 275.0 17.0
S4 S3 7NS-= 43 2220 2680 240 O3 O1 3vy N+2 v4 200 270.0 220|H25 H9 14 S+2 ¢6 140 275.0 17.0
A5 All 7NS= vJ 2220 268.0 24.0| F5 F12 3v S+2 K 200 270.0 22.0( F7 F10 44 N= +K 130 268.0 24.0
F7 F3 7NS= a7 2220 2680 240 S6 S3 3v N+2 #A 200 270.0 220 N1 N5 24 S= vQ 110 265.0 27.0
H7 H22 7N S= a7 2220 2680 240| X8 X5 3v N+2 v6 200 270.0 220| Q8 Q4 14 S+1 ¢9 110 265.0 27.0
O7 06 7TNS= 43 2220 2680 24.0(L14 L17 3v N+2 ¢3 200 270.0 22.0| D1 D19 5vDV-1 A 100 250.0 42.0
V7 V3 7NS= a7 2220 2680 24.0| D1 D19 3v N+1 #A 170 2290 63.0( 12 19 4vDV-1 «A 100 250.0 42.0
X8 X5 7NS-= a5 2220 2680 240 11 14 2¢N+2 T 170 229.0 63.0| H3 H12 5v V-2 A 100 250.0 42.0
A9 A6 7NS= #9 2220 2680 240 12 19 3vN+1 &A 170 229.0 63.0| V3 V9 3vDV-1 &T 100 250.0 42.0
E9 E4 7'NS= a5 2220 2680 24.0| Q2 Q6 2v N+2 8 170 229.0 63.0( H4 H14 5vDV-1 «A 100 250.0 42.0
U9 U8 7NS= vJ 2220 268.0 24.0| S2 S1 3vN+l1 v6 170 2290 63.0( T7 T5 4vDV-1 &9 100 250.0 420
J10 J8 7NS= 43 2220 2680 240 T2 T3 3vyN+1 v6 170 229.0 63.0| 18 110 4vDV-1 A 100 250.0 42.0
H12 H9 7NS= 45 2220 2680 240 X2 X4 3vN+1 46 170 229.0 63.0| J9 J4 4v V-2 A 100 250.0 42.0
T28 T5 7NN-= &) 2220 268.0 24.0( H3 H12 3v N+1 T 170 229.0 63.0|V10 V2 4v V-2 T 100 250.0 42.0
010 08 7v S= ¢7 2210 243.0 49.0( I3 17 3vyN+1 7 170 229.0 63.0|T1l T8 4v V-2 «5 100 250.0 42.0
114 111 7v S= ¢6 2210 2430 490( H4 H14 3v N+1 #A 170 2290 63.0(J12 J2 5v V-2 «T 100 250.0 42.0
D6 D19 7¢ S= &) 2140 2390 530 C5 C7 24 N+2 T 170 229.0 63.0|L20 L6 4¢ O-2 ¢A 100 250.0 42.0
L20 L5 7¢ S= 43 2140 239.0 53.0( G7 G3 2v S+2 ¢K 170 229.0 63.0|T23 T27 4v V-2 T 100 250.0 42.0
S1 S5 6NS+1 7 1470 2200 720| R7 R3 3v N+1 ¥4 170 229.0 63.0| G1 G6 5v V-1 «A 50 192.0 100.0
D2 D22 6NS+1 43 1470 2200 720| U7 Ul 3vy N+1 T 170 2290 63.0| 11 4 3v V-1 «9 50 192.0 100.0
K3 K1 6NS+1 45 1470 2200 720| F8 F4 3v N+1 #A 170 2290 63.0( L1 L11 4v V-1 4A 50 192.0 100.0
M3 M1 1470 2200 72.0| H8 H23 3v N+1 ¢T 170 229.0 63.0| R1 R6 4v V-1 «A 50 192.0 100.0
D5 D16 6NS+1 #9 1470 2200 720| R8 R5 3vy N+1 ¢7 170 2290 63.0| X1 X6 4v V-1 T 50 192.0 100.0
A7 A3 6NS+1 #Q 1470 2200 720(J10 J8 3v N+1 ¢8 170 229.0 63.0| C2 C3 4v V-1 «T 50 192.0 100.0
17 19 6NS+1 43 1470 220.0 72.0|M10 M8 170 229.0 63.0| G2 G4 4v V-1 «T 50 192.0 100.0
K7 K6 6NS+1 +J 1470 2200 72.0(010 O8 3v N+1 &J 170 229.0 63.0| L2 L10 4v V-1 T 50 192.0 100.0
G8 G5 6NS+1 #9 1470 2200 72.0 (P10 P20 3v N+1 T 170 229.0 63.0| Q2 Q6 4v V-1 «T 50 192.0 100.0
L8 L2 6NS+1 &9 1470 220.0 720|U10 U4 3v S+1 ¢2 170 2290 63.0| R2 R4 4v V-1 «T 50 192.0 100.0
09 04 6NS+1 &7 1470 2200 720(V10O V2 3v N+1 3 170 229.0 63.0| U2 U6 4v V-1 T 50 192.0 100.0
Ul0 U4 6NS+1 43 1470 220.0 72.0|M11 M5 170 229.0 63.0| W2 W4 4v O-1 «Q 50 192.0 100.0
P11 P1 6NS+1 &7 1470 2200 720(T11 T8 3v N+1 ¥4 170 229.0 630| E3 E1 4vO-1 ¢A 50 192.0 100.0
K12 K2 6NS+1 43 1470 2200 72.0|J12 J2 3vy N+1 #A 170 2290 63.0| Q3 Q5 4v V-1 T 50 192.0 100.0
P14 P10 6NS+1 &3 1470 2200 72.0 (K12 K2 3v N+1 &J 170 229.0 630| C5 C7 5v V-1 4A 50 192.0 100.0
116 14 6NS+1 &3 1470 2200 72.0|H13 H10 3vy N+1 T 170 229.0 63.0| H5 H16 4v V-1 «T 50 192.0 100.0
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H21 H19 6NS+1 43 1470 220.0 72.0|P17 P9 3v N+l T 170 229.0 63.0( N6 N7 - 4A 50 192.0 100.0
P13 P5 6v S+1 ¢7 1460 202.0 90.0|H21 H7 3vy N+1 7 170 2290 63.0| J7 J6 - oA 50 192.0 100.0
A2 Al 6NS= #9 1440 196.0 96.0(T24 T14 3v N+1 3 170 2290 63.0( Q7 Q1 - ¢A 50 192.0 100.0
C9 C4 6NS= vJ 1440 196.0 96.0|H25 H9 3v N+1 T 170 2290 63.0( U7 U1l - «T 50 192.0 100.0
M9 M4 1440 196.0 96.0| M3 M1 150 191.0 101.0| X7 X3 - 43 50 192.0 100.0
J12 J2 6NS #9 1440 196.0 96.0| D8 D22 2NS+1 ¢K 150 191.0 101.0| A8 A4 - «A 50 192.0 100.0

#9 1440 196.0 96.0| 111 115 INS+2 K 150 191.0 101.0| G8 G5
47 1430 168.0 124.0 (K11 K5 INS+2 K 150 191.0 101.0 | w8 W5
&5 1430 168.0 124.0( 114 112 INN+2 K 150 191.0 101.0( E9 E4
#5 1430 168.0 124.0 (H24 H2 1INV -3 4 150 191.0 101.0| L9 L3
#5 1430 168.0 1240 R1 R6 3v 48 140 152.0 1400 09 O4
#9 1430 168.0 124.0 | D2 D21 3v v4 140 152.0 140.0| U9 U8
47 1430 168.0 1240 F2 F3 3v ¢+K 140 152.0 140.0 [A1l0 A7
46 1430 168.0 124.0 N2 N4 3v +3 140 152.0 140.0 ({J10 J8
¢7 1430 168.0 1240 R2 R4 3v +3 140 152.0 140.0 (U10 U4

4T 50 192.0 100.0
192.0 100.0
«5 50 192.0 100.0
«Q 50 192.0 100.0
7 50 192.0 100.0
«A 50 192.0 100.0
T 50 192.0 100.0
«Q 50 192.0 100.0
oA 50 192.0 100.0
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G7 G3 6v ¢7 1430 168.0 124.0( Q3 Q5 3v 140  152.0 140.0 [M11 M5 50 192.0 100.0
L7 L3 6v 47 1430 168.0 124.0 | D4 D13 2v 1 ¢K 140 152.0 140.0|V1i1 Vi1 - «T 50 192.0 100.0
R7 R3 6v #9 1430 168.0 124.0( V5 V7 3v v5 140 152.0 140.0 |E12 E2 - v2 50 192.0 100.0
U7 Ul 6v ¢7 1430 168.0 124.0( A6 Al 3v ¢T 140 152.0 140.0 (D14 D10 - «Q 50 192.0 100.0
Q8 Q4 6v 45 1430 168.0 1240 C6 C1 3v +T 140 152.0 140.0 (P14 P11 - «T 50 192.0 100.0
W8 W5 6v 47 1430 168.0 124.0 | M7 M6 140  152.0 140.0 | V14 V6 - «A 50 192.0 100.0
K1l K5 6v ¢7 1430 168.0 124.0 Q7 Q1 3v +3 140 152.0 140.0 (P15 P5 «T 50 192.0 100.0

&5 1430 168.0 124.0| T7 75 3v
+7 1430 168.0 124.0| G8 G5 3v
+7 1430 168.0 124.0| Q8 Q4 3v

¢7 140 152.0 140.0 (P16 P1
¢T 140 152.0 140.0 (D18 D6
#A 140 152.0 140.0 (H19 H17

+5 50 192.0 100.0
T 50 192.0 100.0
«A 50 192.0 100.0
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D18 D17 6v ¢7 1430 168.0 1240 W8 W5 2v S+1 ¢J 140 152.0 140.0|L19 L12 - «T 50 192.0 100.0
T21 T12 6v #9 1430 168.0 124.0| A9 All 2v S+1 K 140 152.0 140.0 (P19 P7 192.0 100.0
H23 H1 6v #9 1430 168.0 1240 E9 E4 2v S+1 ¢K 140 152.0 140.0|T19 T9 - «5 50 192.0 100.0
H24 H8 6v #Q 1430 168.0 124.0 |[A10 A7 3v N= ¢7 140 152.0 140.0 (T26 T12 4v V- v2 50 192.0 100.0
T25 T16 6v ¢7 1430 168.0 124.0 (K10 K8 3v N= ¢7 140 152.0 1400 | F5 F12 44 S- 46 -100 138.0 154.0
P3  P7 64 1 v9 1390 140.0 152.0|J11 J5 3v N= 43 140 152.0 140.0| V5 V7 44 S- vQ -100 138.0 154.0
K10 K8 6+ 1 vJ 1390 140.0 152.0|V11 V1 3v N= 7 140 152.0 140.0( O7 O6 5% N - vA -100 138.0 154.0
V10 V13 6¢ 1 #Q 1390 140.0 152.0|F13 F6 3v N= ¢7 140 152.0 1400 R8 R5 44 S- vQ -100 138.0 154.0
L17 L12 6¢ 1 v9 1390 140.0 152.0|D14 D10 2v N+1 T 140 152.0 140.0 [K10 K8 44 S- vQ -100 138.0 154.0
P20 P9 6e 1 9 1390 140.0 152.0 (P14 P11 3v N= T 140 152.0 140.0(J11 J5 44 S- vQ -100 138.0 154.0
T3 T15 6+ v9 1370 129.0 163.0|V14 V6 3v N= ¢T 140 152.0 140.0 (P13 P6 4#& N- +K -100 138.0 154.0
J7 J6 64 v9 1370 129.0 163.0|L16 L15 3v N= ¢T 140 152.0 140.0 [L14 L17 44 S- vQ -100 138.0 154.0
F8 F10 6e v9 1370 129.0 163.0 | L18 L13 3v N= #A 140 152.0 140.0 ([H24 H2 34 S- vQ -100 138.0 154.0
112 13 6¢ v9 1370 129.0 163.0|P18 P3 3v S= ¢+K 140 152.0 140.0 | K7 K6 3¢ V= A -110 128.0 164.0
T17 T14 6+ v9 1370 129.0 163.0|T18 T15 3v N= v6 140 152.0 140.0| A3 A2 3v O= «Q -140 120.0 172.0
T22 T27 64 S= #9 1370 129.0 163.0(L20 L6 24 N+1 ¢9 140 152.0 140.0( 13 17 3v V= T -140 120.0 172.0
N1 N5 3NS+4 3 720 118.0 174.0(T22 T1 3v N= 3 140 152.0 140.0| D5 D15 2¢v V+1 «A -140 120.0 172.0
H2 H25 3NS+4 3 720 118.0 174.0(T23 T27 2v S+1 ¢K 140 152.0 140.0| D7 D20 3v O= 49 -140 120.0 172.0
P2 P18 3NS+4 45 720 118.0 1740| B2 Bl INS+1 K 120 111.0 181.0( M7 M6 -140 120.0 172.0
V2 V8 5NS+2 6 720 11801740 C9 C4 INS+1 ¢K 120 111.0 181.0|H11l H15 3v V= T -140 120.0 172.0
K9 K4 4NS+3 vJ 720 118.0 1740| K9 K4 INS+1 ¢K 120 111.0 181.0(L16 L15 3v V= 43 -140 120.0 172.0
A8 A10 4NN+2 #Q 690 111.0 181.0| M9 M4 120 1110 1810 T2 T3 3vV+l T -170 103.0 189.0
115 110 3NS+3 ¢J 690 111.0181.0( U9 U8 2NS= ¢+K 120 11101810 K3 K1 3v O+l 45 -170 103.0 189.0
D4 D14 4v S+2 #9 680 103.0 189.0 | T10 T13 2N S= 42 120 111.0181.0| T4 T16 3v V+l &A -170 103.0 189.0

T6 T4 4vy N+2 &6 680 103.0 189.0|P16 P1 INS+1 ¢J 120 111.0181.0( H6 H18 2¢vV+2 4A -170 103.0 189.0
E12 E2 4v S+2 47 680 103.0189.0|T20 T21 INS+1 K 120 111.0181.0| G7 G3 3vO+1 «A -170 103.0 189.0

D15 D10 4v S+2 ¢7 680 103.0 189.0| G1 G6 2v S= ¢+K 110 100.0 1920 F8 F4 3vV+l &A -170 103.0 189.0
T19 T20 4v N+2 #Q 680 103.0 189.0| K7 K6 2v N= +3 110 100.0 1920 F9 F11 3vV+l1 A -170 103.0 189.0
T23 T13 4v S+2 7 680 103.0 189.0| 18 110 24 N= ¢7 110 100.0 1920 (E11 E5 2vV+2 &A -170 103.0 189.0

U3 U5 4v S+1 48 650 95.0 197.0 F7 F10 2& V-2 vA 100 95.0 197.0 |H13 H10 2v V+2 &A -170 103.0 189.0
011 O5 5v N= «Q 650 95.0 197.0 |012 0O2 3¢ V-2 vA 100 95.0 197.0|T20 T21 3v V+1 T -170 103.0 189.0

T10 T7 5¢ S+2 «J 640 92.0 200.0 | A3 A2 INS +K 90 89.0 203.0( W1 W6 54 N-2 ¢K -200 87.0 205.0

C2 C3 5¢ N+1 v9 620 83.0 209.0 | K3 K1 INS= +K 90 89.0 203.0| B4 B3 34 S-2 v3 -200 87.0 205.0
E3 E1 5¢ N+1 v9 620 83.0 209.0| L9 L3 INS= +K 90 89.0 203.0| C6 Cl1 44DS-1 ¥3 -200 87.0 205.0
H4 H15 4v S= ¢7 620 83.0 209.0 (V12 V13 INS= +K 90 89.0 203.0| S6 S3 44 S-2 ¢4 -200 87.0 205.0
D7 D21 5¢ N+1 v9 620 83.0 209.0( E7 E6 24 O-1 &3 50 82.0 210.0 (P17 P9 INS-2 v5 -200 87.0 205.0
W7 W3 5¢ N+1 v9 620 83.0 209.0 |E11 E5 2¢ V-1 vA 50 82.0 210.0 |H21 H7 4# N-2 +K -200 87.0 205.0
X7 X3 5¢ S+1 43 620 83.0 209.0 (H19 H17 2¢ V-1 vK 50 82.0 210.0 (K12 K2 44 S-3 ¢+6 -300 80.0 212.0
J9 J4 5¢ N+1 v9 620 83.0 209.0 | W1 W6 Pass 58.0 234.0| F1 F14 4v V= T -420 47.0 245.0
L19 L10 5¢ N+1 49 620 83.0 209.0| L2 L10 Pass 58.0 234.0 | H1 H22 4v V= oA -420 47.0 245.0
H5 H17 3¢ N+3 ¢9 170 74.0 2180 E3 E1 Pass 58.0 234.0 | D2 D21 4v V= oA 420 47.0 245.0
Gl G6 7NS-1 v6 -100 44.0 248.0| U3 U5 Pass 58.0 2340 F2 F3 4v V= oA -420 47.0 245.0
R1 R6 7v S-1 3 -100 44.0 248.0( B4 B3 Pass 58.0 234.0| P2 P12 4v V= oA -420 47.0 245.0
W1l W6 7NS-1 vJ] -100 44.0 248.0| T4 T16 Pass 58.0 2340 X2 X4 4v V= T -420 47.0 245.0
X1 X6 7v S-1 ¢7 -100 44.0 248.0| D5 D15 Pass 58.0 234.0 | D4 D13 4v V= oA -420 47.0 245.0
Q2 Q6 7NN-1 #Q -100 44.0 248.0| H5 H16 Pass 58.0 234.0| I5 116 4v V= oA -420 47.0 245.0
R2 R4 7v S-1 ¢7 -100 44.0 2480 S5 S4 Pass 58.0 2340 L5 L7 4v V= oA 420 47.0 245.0
Q3 Q5 7vS-1 ¢7 -100 44.0 248.0| H6 H18 Pass 58.0 234.0| S5 S4 4v V= oA -420 47.0 245.0
B4 B3 7v S-1 7 -100 44.0 248.0( N6 N7 Pass 58.0 234.0| A6 Al 4y V= oA -420 47.0 245.0
F4 F11 6v N-1 9 -100 44.0 248.0| D7 D20 Pass 58.0 2340 E7 E6 4v V= oA 420 47.0 245.0
V4 V6 7TNS-1 vJ -100 44.0 248.0 | W7 W3 Pass 58.0 234.0 | W7 W3 4v V= v2 420 47.0 245.0
N6 N7 6NS-1 #9 -100 44.0 248.0| X7 X3 Pass 58.0 234.0| D8 D22 4v V= oA -420 47.0 245.0
S6 S2 7vS-1 ¢7 -100 44.0 2480| A8 A4 Pass 58.0 2340 L8 L4 4v V= T -420 47.0 245.0
M7 M6 -100 44.0 248.0| V8 V4 Pass 58.0 234.0 V8 V4 4v V= oA -420 47.0 245.0
Q7 Q1 7vS-1 #9 -100 44.0 248.0( F9 F1l1 Pass 58.0 234.0| A9 All 4v V= oA -420 47.0 245.0
T9 T24 7v N-1 v9 -100 44.0 248.0|D12 D9 Pass 58.0 2340 C9 C4 4v V= oA 420 47.0 245.0
Cl10 C8 6v S-1 ¢7 -100 44.0 248.0 (P13 P6 Pass 58.0 234.0 K9 K4 4v V= oA -420 47.0 245.0
H10 H14 7v S-1 7 -100 44.0 248.0 (D18 D6 Pass 58.0 234.0|C10 C8 4v V= oA -420 47.0 245.0
E1l E5 6v S-1 ¢7 -100 44.0 248.0(L19 L12 Pass 58.0 234.0 ([M10 M8 -420 47.0 245.0
H11l H16 7v N-1 46 -100 44.0 2480 N1 N5 34 N-1 *T -50 23.0 269.0 (010 08 4v V= oA -420 47.0 245.0
Ji11 J5 7¢S-1 7 -100 44.0248.0| C2 C3 INS-1 *+K -50 23.0 269.0 |P10 P20 4v V= 3 -420 47.0 245.0
M1l M5 -100 44.0 248.0| V3 V9 4v N-1 +3 -50 23.0 269.0 | T10 T13 4v V= oA 420 47.0 245.0
D13 D9 7v S-1 ¢7 -100 44.0 2480 I5 116 4v N-1 A -50 23.0 269.0 | 111 115 4v V= oA -420 47.0 245.0
F13 F5 7NN-1 9 -100 44.0 2480 O7 O6 4v N-1 A -50 23.0 269.0 {011 O5 4v V= oA -420 47.0 245.0
Vi4 V5 7NS-1 9 -100 4402480 L8 L4 INN-1 + K -50 23.0 269.0 |V12 V13 4v V= oA 420 47.0 245.0
P15 P4 7v S-1 ¢7 -100 44.0248.0( J9 J4 INS-1 *+K -50 23.0 269.0 |F13 F6 4v V= oA -420 47.0 245.0
P17 P8 6v S-1 7 -100 44.0 2480| 09 O4 4v N-1 7 -50 23.0 269.0 |D17 D16 4v V= oA -420 47.0 245.0
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L18 L11 7NS-1 &9 -100 44.0 248.0|C10 C8 3v N-1 T -50 23.0 269.0|L18 L13 4v V= aA  -420 47.0 245.0
T18 T8 7v N-1 +3 -100 44.0 248.0|011 O5 3v N-1 T -50 23.0 269.0|P18 P3 4v V= oA -420 47.0 245.0
H20 H6 7v S-1 7 -100 44.0 248.0|E12 E2 3v S-1 +K -50 23.0 269.0|T25 T17 4v V= oA -420 47.0 245.0
T1 T2 6v S-2 &5 -200 8.0 284.0 (P15 P5 3v N-1 & -50 23.0 269.0| M3 M1 -500 12.0 280.0
X2 X4 T7v S-2 &9 -200 8.0284.0(T19 T9 3v N-1 v6 -50 23.0 269.0|012 02 44DS-2 +4 -500 12.0 280.0
P6 P19 7N S-2 v4 -200 8.0 284.0(T26 T12 2&# S-1 +Q -50 23.0 269.0 | T18 T15 44DS-2 vJ -500 12.0 280.0
V9 V1 7NS-2 &9 -200 8.0 2840 P4 P8 24 V= +K -90 6.0 286.0( S2 S1 4vDO= ¢A -590 6.0 286.0
M10 M8 -200 8.0 284.0 (P19 P7 INV= 46 -90 6.0 286.0 R7 R3 4vDV= &A -590 6.0 286.0
V11 V12 7v S-2 +3 -200 8.0284.0|T28 T6 1¢ V+1 48 -90 6.0 286.0 (K11 K5 4vDV= &A -590 6.0 286.0
T26 T11 5v S-2 a3 -200 8.0 2840 P2 P12 4v S-2 +K -100 2.0 290.0(T28 T6 44DS-3 vA -800 2.0 290.0
F12 F14 7# N-8 v9 -800 0.0 292.0| W2 W4 4v N-3 +3 -150 0.0 292.0|T24 T14 44DS-4 ¢9 -1100 0.0 292.0
- J1 142.4 | D3 - 212.1 D3 - 212.1
- N3 133.2 - 142.4 - 142.4
- ES8 148.3 - N3 133.2 - N3 133.2
- D8 138.9 - E8 148.3 - E8 148.3
- A4 135.7 - A5 152.5 - A5 152.5
- M2 155.6 - M2 155.6 - M2 155.6
- 15 98.0 - 16 120.6 - 16 120.6
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D6 D17 3NN+2 2 660 289.0 3.0| C1 C10 4¢DO-2 48 300 2920 0.0]|J11 J6 24DN= T 670 2920 0.0
K11 K6 3NN+2 v6 660 289.0 30| L1 L13 34 N+2 ¢8 200 2870 50| T1 Ti10 3NV-3 42 150 2840 8.0
L15 L18 3NN+2 v6 660 289.0 3.0|W3 W5 24 N+3 vA 200 287.0 50| G2 G1 3NV-3 43 150 284.0 8.0
D18 D1 3NN+2 v6 660 289.0 3.0| W6 W8 24 N+3 &6 200 287.0 50| J4 J2 3NV-3 46 150 284.0 8.0
L1 L13 3NN+1 &7 630 261.0 31.0|D16 D15 34 N+2 ¢8 200 287.0 50| W6 W8 4v V-3 9 150 2840 8.0
G2 G1 3NN+1 2 630 261.0 31.0| Q1 Q2 34 N+1 42 170 270.0 22.0|V1i0 V6 3NV-3 43 150 284.0 8.0
D3 D22 3NN+1 v6 630 261.0 31.0| G2 G1 24 N+2 vA 170 270.0 22.0|P20 P12 3NV-3 42 150 284.0 8.0
W3 W5 3NN+1 v6 630 261.0 31.0 12 I5 3« N+1 vA 170 270.0 22.0|T21 T11 3NO-3 &2 150 284.0 8.0
X3 X5 3NN+1 &2 630 261.0 31.0| D3 D22 24 N+2 vA 170 270.0 22.0| P6 P10 24 N= &7 110 275.0 17.0
D4 D12 3NN+1 6 630 261.0 31.0| F3 F4 3«4 N+1 <vA 170 270.0 22.0|H10 H25 24 N= &K 110 275.0 17.0
14 18 BNN+1 v2 630 261.0 31.0| K4 K2 24 N+2 &6 170 270.0 22.0| O1 010 2NV-2 46 100 258.0 34.0
Q4 Q6 3NN+1 2 630 261.0 31.0| S6 S3 24 N+2 vA 170 270.0 220| V1 V2 4y V-2 &9 100 258.0 34.0
H5 H15 3NN+1 2 630 261.0 31.0| C9 C5 24 N+2 49 170 270.0 22.0| N2 N6 4y V-2 &9 100 258.0 34.0
F6 F1 3NN+1 6 630 261.0 31.0| L9 L5 34 N+1 <vA 170 2700 220| G3 G5 by V-2 9 100 258.0 34.0
G6 G8 3NN+1 2 630 261.0 31.0| 112 115 24 N+2 8 170 270.0 22.0| X3 X5 4v V-2 &9 100 258.0 34.0
V6 V8 3NN+1 42 630 261.0 31.0|P16 P2 24 N+2 vA 170 270.0 220| A5 A4 4y V-2 &9 100 258.0 34.0
W6 W8 3NN+1 42 630 261.0 31.0|L17 L16 24 N+2 48 170 270.0 22.0| H5 H14 4v V-2 43 100 258.0 34.0
A7 A2 3NN+1 2 630 261.0 31.0|T24 T27 24 N+2 +8 170 270.0 22.0| T6 T18 4v V-2 9 100 258.0 34.0
C7 C2 3NN+1 48 630 261.0 31.0| U3 U7 4¢ O-3 8 150 254.0 38.0| H7 H18 4v V-2 &9 100 258.0 34.0
C9 C5 3NN+1 v6 630 261.0 31.0| X3 X5 3¢ O-3 48 150 2540 38.0| N7 N1 4v V-2 9 100 258.0 34.0
H9 H24 3NN+1 2 630 261.0 31.0|Vi4 V7 2NO-3 &4 150 254.0 38.0|A10 A6 3NV-2 3 100 258.0 34.0
09 O5 3NN+1 T 630 261.0 31.0| H1 H20 24 N+1 8 140 235.0 57.0|U10 U5 4y V-2 &9 100 258.0 34.0
A10 Al 3NN+1 2 630 261.0 31.0| O1 O10 34 N= vA 140 235.0 57.0|E12 E3 4v V-2 8 100 258.0 34.0
Ul0 U5 3NN+1 v6 630 261.0 31.0| L2 L12 34 N= vA 140 235.0 57.0|F14 F3 4y V-2 9 100 258.0 34.0
T13 T15 3NN+1 v9 630 261.0 31.0| T3 T4 34 N= +J 140 235.0 57.0|D19 D2 4y V-2 &9 100 258.0 34.0
T20 T10 3NN+1 «4 630 261.0 31.0| T5 T17 24 N+1 ¢2 140 235.0 57.0| A1 A9 4v V-1 &9 50 195.0 97.0
T21 722 3NN+1 v6 630 261.0 31.0| A7 A2 34 N= vA 140 235.0 57.0| H1 H19 4v V-1 &9 50 195.0 97.0
T23 T2 3NN+1 T 630 261.0 31.0| C7 C2 34 N= ¢2 140 235.0 57.0| J1 J10 4v V-1 &9 50 195.0 97.0
Cl1l C10 3NN= +T 600 149.0 143.0| H7 H19 24 N+1 vA 140 235.0 57.0| Ul U9 4v V-1 ¢+A 50 195.0 97.0
11 114 3NN= 42 600 149.0 143.0| N7 N1 24 N+1 vQ 140 235.0 57.0 12 114 49 V-1 &9 50 195.0 97.0
J1 J10 3NN= +T 600 149.0 143.0| P7 P13 34 N= +8 140 235.0 57.0| P2 P4 4v V-1 &9 50 195.0 97.0
K1 K10 3NS= +A 600 149.0 143.0| A9 A5 34 N= vA 140 2350 57.0| R2 R1 2NV-1 &9 50 195.0 97.0
M1 M10 600 149.0 143.0| J9 J5 24 N+1 vA 140 235.0 57.0 I3 16 3v V-1 &9 50 195.0 97.0
01 010 3NN= 42 600 149.0 143.0|L10 L4 24 N+1 2 140 235.0 57.0| Q3 Q7 4v V-1 &8 50 195.0 97.0
P1 P3 3NN= +T 600 149.0 143.0 |E12 E3 34 N= vA 140 235.0 57.0| W3 W5 4v V-1 a2 50 195.0 97.0
Q1 Q2 3NN= v2 600 149.0 143.0 |P17 P10 34 N= vQ 140 235.0 57.0| Q4 Q6 4v V-1 &8 50 195.0 97.0
Tl T26 3NN= 3 600 149.0 143.0|D19 D7 24 N+1 ¢2 140 235.0 57.0| U4 U6 4y V-1 ¢A 50 195.0 97.0
Ul U9 3NN= v2 600 149.0 143.0| Q3 Q7 24 N= vA 110 212.0 80.0| D5 D13 4v V-1 a2 50 195.0 97.0
D2 D20 3NN= v6 600 149.0 143.0| R3 R5 24 N= vA 110 212.0 80.0 15 19 4v V-1 &9 50 195.0 97.0
H2 H23 3NN= v6 600 149.0 143.0| H6 H17 14 N+1 &2 110 2120 80.0| S5 S4 4v V-1 46 50 195.0 97.0
12 15 3NN= 3 600 149.0 143.0|J11 J6 24 N= &6 110 2120 80.0| C6 C8 4v V-1 &9 50 195.0 97.0
N2 N6 3NN= vJ 600 149.0 143.0 |F13 F7 24 N= vA 110 212.0 80.0| D6 D16 4v V-1 &9 50 195.0 97.0
R2 R1 3NN= 3 600 149.0 143.0|V13 V1 24 N= vA 110 2120 80.0| G6 G8 4v V-1 &9 50 195.0 97.0
S2 S1 3NN-= v6 600 149.0 143.0 |H18 H16 24 N= vA 110 2120 80.0| S6 S3 4v V-1 &9 50 195.0 97.0
X2 X1 3NN= +T 600 149.0 143.0 | K1 K10 3¢ O-2 «J 100 189.0 103.0| C7 C2 4v V-1 &9 50 195.0 97.0
B3 B2 3NN= v6 600 149.0 143.0( P1 P3 3¢ O-2 «J 100 189.0 103.0| F7 F2 4v V-1 ¢A 50 195.0 97.0
F3 F4 3NN= v2 600 149.0 143.0| B3 B2 1INO-2 &2 100 189.0 103.0| L7 L9 4v V-1 &9 50 195.0 97.0
G3 G5 3NN= v2 600 149.0 143.0( C3 C4 44 O-2 8 100 189.0 103.0| V7 V9 4v V-1 a2 50 195.0 97.0
I3 110 3NN= v3 600 149.0 143.0| D4 D12 3¢ O-2 «J 100 189.0 103.0 | W7 W4 5v V-1 &9 50 195.0 97.0
L3 L11 3NS= +T 600 149.0 143.0| D5 D14 1INO-2 8 100 189.0 103.0| X7 X4 4v V-1 &9 50 195.0 97.0
N3 N5 3NN= v6 600 149.0 143.0( V6 V8 3¢ O-2 &5 100 189.0 103.0| A8 A3 4v V-1 ¢+A 50 195.0 97.0
Q3 Q7 3NN= v2 600 149.0 143.0| X7 X4 1INO-2 8 100 189.0 103.0| E8 E7 5¢ O-1 vT 50 195.0 97.0
R3 R5 3NN= +T 600 149.0 143.0( P8 P19 4¢ O-2 48 100 189.0 103.0| K8 K7 4v V-1 &9 50 195.0 97.0
B4 Bl 3NN-= v2 600 149.0 143.0| T8 T6 2NO-2 8 100 189.0 103.0| O8 O7 3NV-1 a2 50 195.0 97.0
E4 E2 3NN= v2 600 149.0 143.0( V9 V5 3¢ O-2 48 100 189.0 103.0| D9 D22 4v V-1 &9 50 195.0 97.0
K4 K2 3NN= v6 600 149.0 143.0 (D13 D10 4¢ O-2 «J 100 189.0 103.0( F9 F12 4v V-1 ¢+A 50 195.0 97.0
M4 M2 600 149.0 143.0 (D18 D1 4¢ O-2 8 100 189.0 103.0| K9 K5 4v V-1 a2 50 195.0 97.0
04 02 3NN= 42 600 149.0 143.0 ([ T18 T25 4¢ O-2 «J 100 189.0 103.0 | M9 M5 50 195.0 97.0
V4 V10 3NS= +A 600 149.0 143.0 | T20 T10 2N O -2 &2 100 189.0 103.0| P9 P19 4v V-1 &9 50 195.0 97.0
P5 P9 3NN-= v2 600 149.0 143.0(T23 T2 4¢ O-2 «J 100 189.0 103.0| T9 T7 4v V-1 a2 50 195.0 97.0
S5 S4 3NN= v6 600 149.0 143.0 11 114 3¢ O-1 a] 50 136.0 156.0 |D10 D12 4v V-1 4K 50 195.0 97.0
T5 T17 3NN= 3 600 149.0 143.0| J1 J10 INO-1 48 50 136.0 156.0 [F10 F6 4v V-1 &9 50 195.0 97.0
C6 C8 3NN= v6 600 149.0 143.0( Ul U9 3¢ O-1 a] 50 136.0 156.0 | 110 112 4v V-1 a3 50 195.0 97.0
H6 H17 3NN= +T 600 149.0 1430 R2 R1 INO-1 a] 50 136.0 156.0 | L11 L5 4v V-1 &9 50 195.0 97.0
L6 L8 3NN= +T 600 149.0 143.0( W2 W1 3¢ O-1 48 50 136.0 156.0 |O12 O3 4v V-1 a2 50 195.0 97.0
R6 R8 3NN= v6 600 149.0 143.0 I3 110 3¢ O-1 a] 50 136.0 156.0 |V12 V4 2NV -1 a2 50 195.0 97.0
S6 S3 3NS= +A 600 149.0 143.0( N3 N5 3¢ O-1 a] 50 136.0 156.0 | T13 T27 4v V-1 a2 50 195.0 97.0
X6 X8 3NN-= +T 600 149.0 143.0( A4 A3 3¢+ O-1 48 50 136.0 156.0 ([ T14 T16 4v V-1 &9 50 195.0 97.0
G7 G4 3NN= v2 600 149.0 143.0( B4 Bl 2¢ O-1 v4 50 136.0 156.0 | L16 L19 4v V-1 &9 50 195.0 97.0
H7 H19 3NN= v6 600 149.0 143.0 14 18 3¢ O-1 a] 50 136.0 156.0 |P18 P5 4v V-1 ¢A 50 195.0 97.0
N7 N1 3NN= v2 600 149.0 143.0| O4 02 3¢ O-1 a] 50 136.0 156.0 [T19 T25 4v V-1 46 50 195.0 97.0
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P7 P13 3NN= v2 600 149.0 143.0| V4 V10 3¢ O-1 4J 50 136.0 156.0 (D20 D8 4v V-1 «9 50 1950 97.0
X7 X4 3NN= v2 600 149.0 143.0| D6 D17 3¢ O-1 48 50 136.0 156.0|T22 T23 4v V-1 46 50 195.0 97.0
D8 D21 3NN= ¢T 600 149.0 1430| G6 G8 3¢ O-1 48 50 136.0 156.0| O4 O2 24 N-1 #A -100 146.0 146.0
E8 E7 3NN= 42 600 1490 1430 R6 R8 INO-1 #2 50 136.0 156.0 M4 M2 -110 144.0 148.0
F8 F11 3NN= v6 600 149.0 143.0( X6 X8 3¢ O-1 4] 50 136.0 156.0| J9 J5 2NV = 42 -120 142.0 150.0
J8 J7 3NN= v6 600 149.0 143.0| R7 R4 3¢ O-1 48 50 136.0 156.0| C1 C10 3v V= 9 -140 128.0 164.0
K8 K7 3NS= ¢A 600 149.0 143.0| F8 F11 3¢ O-1 4 50 136.0 156.0 | K1 K10 3v V= «9  -140 128.0 164.0
08 07 3NN= v2 600 149.0 143.0( J8 J7 3¢ O-1 4 50 136.0 156.0| Q1 Q2 3v V= 9 -140 128.0 164.0
Q8 Q5 3NS= ¢A 600 149.0 1430 K8 K7 3¢ O-1 42 50 136.0 156.0( H3 H24 3v V= 9 -140 128.0 164.0
T8 T6 3NN-= v2 600 149.0 143.0| M8 M7 INO-1 &2 50 136.0 156.0| H6 H16 3v V= 9  -140 128.0 164.0
U8 U2 3NN= v2 600 149.0 1430 Q8 Q5 3¢ O-1 49 50 136.0 156.0| 09 O5 3v V= 9 -140 128.0 164.0
A9 A5 3NN= ¢T 600 149.0 1430 19 111 3¢ O-1 42 50 136.0 156.0(E11 E6 3v V= 9 -140 128.0 164.0
E9 E5 3NN= v2 600 149.0 143.0| K9 K5 3¢ O-1 48 50 136.0 156.0|H12 H4 3v V= 42 -140 128.0 164.0
19 111 3NN= v2 600 149.0 1430 09 O5 2¢ O-1 &5 50 136.0 156.0|F13 F8 3v V= 9 -140 128.0 164.0
J9 J5 3NN= v6 600 149.0 143.0|F10 F12 3¢ O-1 49 50 136.0 156.0 |H13 H11l 3v V= 9 -140 128.0 164.0
K9 K5 3NN= v9 600 149.0 143.0|K11 K6 INO-1 #2 50 136.0 156.0 (D17 D1 3v V= 42 -140 128.0 164.0
L9 L5 3NN= v2 600 149.0 143.0 |M11 M6 . 50 136.0 156.0 |P17 P11 3v V= 9 -140 128.0 164.0
M9 M5 600 149.0 143.0|011 O6 34 O-1 43 50 136.0 156.0|T20 T17 3v V= 46 -140 128.0 164.0
V9 V5 3NN= 43 600 149.0 143.0 ([H12 H10 3¢ O-1 &) 50 136.0 156.0| B4 Bl 2NO+1 &2 -150 114.0 178.0
F10 F12 3NN= v2 600 149.0 143.0 (K12 K3 INO-1 4] 50 136.0 156.0| L3 L13 3vV+1 &9 -170 104.0 188.0
L10 L4 3NN= ¢T 600 149.0 143.0(T12 T9 3¢ O-1 4] 50 136.0 156.0( 14 111 3v V+1 &9 -170 104.0 188.0
A1l A8 3NN= ¢T 600 149.0 143.0 (V12 V2 INO-1 4] 50 136.0 156.0| K4 K2 3vy V+1 &9 -170 104.0 188.0
E11 E6 3NN= v2 600 149.0 143.0|T13 T15 INO-1 #2 50 136.0 156.0( L4 L12 3v V+1 2 -170 104.0 188.0
J11 J6 3NN= v6 600 149.0 143.0|F14 F2 3v V-1 4A 50 136.0 156.0| V5 V11 3v V+1 &2 -170 104.0 188.0
P11 P20 3NN= ¢T 600 149.0 143.0(L19 L14 INO-1 #4 50 136.0 1560 R7 R4 3v V+l1 42 -170 104.0 188.0
T11 T14 3NN-= ¢T 600 149.0 143.0(L20 L7 3¢ O-1 &J 50 136.0 156.0| C9 C5 3vV+1 &8 -170 104.0 188.0
V1l V3 3NN= 42 600 149.0 143.0( L3 L11 34 N-1 &6 -50 88.0 204.0 |H17 H15 3v V+1 &6 -170 104.0 188.0
H12 H10 3NN= ¢T 600 149.0 143.0( H4 H13 24 N-1 vA -50 88.0 204.0|T28 T8 3v V+1 &9 -170 104.0 188.0
T12 T9 3NN-= v2 600 149.0 143.0| U4 U6 34 N-1 vA -50 88.0 204.0 |A1l A2 3vV+2 v7 -200 94.0 198.0
V12 V2 3NN= v2 600 149.0 1430| F6 F1 34 N-1 9 -50 88.0 204.0 (011 06 3NV= 46 -400 92.0 200.0
D13 D10 3NN= v2 600 149.0 143.0| L6 L8 34 N-1 8 -50 88.0 204.0| L1 L15 4v V= 43 -420 58.0 234.0
F13 F7 3NN= v2 600 149.0 143.0|U10 U5 34 N-1 vA -50 88.0 204.0 | M1 M10 -420 58.0 234.0
P14 P12 3NN= v2 600 149.0 143.0 |H14 H11 24 N-1 vA -50 88.0 204.0| P1 P14 4v V= 9 -420 58.0 234.0
D16 D15 3NS= ¢A 600 149.0 143.0 (P14 P12 24 N-1 vA -50 88.0 204.0 | H2 H21 4y V= 42 420 58.0 234.0
116 16 3NN= v2 600 149.0 143.0|P15 P6 34 S-1 +8 -50 88.0 204.0| S2 S1 4v V= 42 420 58.0 234.0
P16 P2 3NN= v6 600 149.0 143.0| 116 16 24 N-1 %9 -50 88.0 204.0| T2 T26 4v V= 42 420 58.0 234.0
L17 L16 3NS= ¢K 600 149.0 143.0(T21 T22 34 N-1 9 -50 88.0 204.0 | W2 W1 4y V= ¢A -420 58.0 234.0
H18 H16 3NN = v3 600 149.0 143.0| D2 D20 INO= »2 -90 64.0 228.0| C3 C4 4v V= 9 -420 58.0 234.0
T18 T25 3NN= ¢8 600 149.0 1430 N2 N6 2¢ O= 4] 90 64.0 228.0| D3 D21 4v V= 9 -420 58.0 234.0
D19 D7 3NN= 42 600 149.0 1430 E4 E2 2¢ O= va -90 64.0 2280 R3 R5 4v V= ¢A -420 58.0 234.0
L19 L14 3NN= ¢T 600 149.0 143.0( P5 P9 2¢ O= »8 90 64.0 228.0| U3 U7 4v V= 49 420 58.0 234.0
L20 L7 3NN= v9 600 149.0 143.0| C6 C8 2¢ O= 4] 90 64.02280| T4 T5 4v V= 43 -420 58.0 234.0
H22 H8 3NN-= v2 600 149.0 143.0| E8 E7 INV= a4 -90 64.0 228.0| R6 R8 4v V= 42 420 58.0 234.0
H25 H3 3NN-= ¢T 600 149.0 1430 F9 F5 2¢ O= 48 -90 64.0 228.0| X6 X8 4v V= 9 -420 58.0 234.0
T28 T7 3NN= 43 600 149.0 143.0|(A10 Al 2¢ O= *4 90 64.0 228.0| G7 G4 4v V= ¢A -420 58.0 234.0
W2 W1 2¢ V-4 A 400 60.0 232.0 |A11 A8 INV= a5 -90 64.0 2280 17 116 4v V= «9 -420 58.0 234.0
P15 P6 2NN+3 v2 210 58.0 234.0 (P11 P20 2¢ O= 48 -90 64.0 228.0| H8 H20 4v V= 9 -420 58.0 234.0
T24 T27 INN+3 2 180 56.0 236.0 |P18 P4 2¢ V= *2 -90 64.02280| J8 J7 4v V= 3 -420 58.0 234.0
L2 L12 2NN+1 T 150 48.0 244.0 [H25 H3 2¢ O= *5 -90 64.0 228.0| M8 M7 4v V= «9 -420 58.0 234.0
C3 C4 INN+2 T 150 48.0 244.0|T28 T7 INO= +5 -90 64.0 228.0| Q8 Q5 4v V= 9 -420 58.0 234.0
U3 U7 2NN+1 T 150 48.0 244.0 | M1 M10 -100  49.0 243.0| U8 U2 4v V= 9 -420 58.0 234.0
A4 A3 2NN+1 v6 150 48.0 2440 (T11 T14 44 N-2 ¢2 -100 49.0 2430| E9 E5 4v V= 42 420 58.0 234.0
J4 J2 2NN+1 v2 150 48.0 2440 | H2 H23 2¢ O+1 48 -110 34.0 258.0|L10 L6 4v V= ¢A -420 58.0 234.0
M8 M7 2NN+1 T 150 48.0 2440 S2 S1 3¢ O= 48 -110 34.0 258.0 (K11 K6 4v V= 42 420 58.0 234.0
F9 F5 2NN+1 &2 150 48.0 244.0| X2 X1 2¢ O+1 &2 -110 34.0 258.0 ([M11 M6 -420 58.0 234.0
H4 H13 INN+1 v6 120 39.0 253.0| G3 G5 3¢ V= #A -110 34.0 258.0 [K12 K3 4v V= ¢A -420 58.0 234.0
H14 H11 2N S= ¢2 120 39.0 253.0| J4 J2 3¢ O= 4J -110 34.0258.0(T12 T15 4v V= 43 -420 58.0 234.0
012 O3 3&S= ¢A 110 36.0 256.0 | M4 M2 B -110 34.0 258.0 |D15 D14 4v V= ¢A -420 58.0 234.0
011 O6 INN= a4 90 34.0 258.0| Q4 Q6 3¢ O= 48 -110 34.0258.0( 115 11 4v V= 3 -420 58.0 234.0
H1 H20 3NN-1 v2 -100 21.0271.0| G7 G4 2¢ O+1 48 -110 34.0 258.0|P15 P7 4v V= 9 -420 58.0 234.0
T3 T4 5& N-1 v2 -100 21.0271.0| D8 D21 3¢ O= 4J -110 34.0 258.0 (P16 P3 4v V= 42 420 58.0 234.0
U4 U6 4vy N-1 T -100 21.02710( U8 U2 3¢ O= 49 -110 34.0 258.0 (L18 L17 4v V= 46 -420 58.0 234.0
R7 R4 3NN-1 v6 -100 21.0 271.0| H9 H24 3¢ O= 48 -110 34.0258.0(L20 L8 4v V= 9 -420 58.0 234.0
P8 P19 3NN-1 v2 -100 21.0 271.0| M9 M5 B -110 34.0 258.0| L2 L14 4v V+1 &9 -450 15.0 277.0
M1l M6 -100 21.0 271.0 |E11 E6 3¢ O= v5 -110 34.0258.0| X2 X1 4vV+l #9 -450 15.0 277.0
E12 E3 4v S-1 ¢A -100 21.02710| S5 S4 INO+1 &2 -120 19.0 273.0| B3 B2 4v V+1 &9 -450 15.0 277.0
112 115 3NN-1 v6 -100 21.0 271.0|T19 T16 2NO= 4J -120 19.0273.0( N3 N5 4v V+1 &9 -450 15.0 277.0
K12 K3 3NN-1 v5 -100 21.0271.0| T1 T26 3¢ O+1 &J -130 13.0279.0| E4 E2 4v V+1 &9 -450 15.0 277.0
F14 F2 3NN-1 44 -100 210 2710| H5 H15 2¢ O+2 &5 -130 13.0279.0| F4 F5 4vV+l ¢A -450 15.0 277.0
P17 P10 3NN-1 42 -100 2102710 O8 O7 3¢ O+1 48 -130 13.0279.0| D7 D18 4v V+1 &8 -450 15.0 277.0
P18 P4 3NN-1 v2 -100 21.0 271.0|H22 H8 3¢ O+1 &J -130 13.0279.0(F11 F1 4vV+l1l ¢A -450 15.0 277.0
V13 V1 3NN-2 v2 -200 8.0 284.0|L15 L18 3v V= aA  -140 8.0 284.0|P13 P8 4vV+1 ¢3 -450 15.0 277.0
D5 D14 3NN-3 T -300 3.0289.0| W7 W4 INO+2 +Q -150 4.0 288.0|V13 V3 4v V+1 &8 -450 15.0 277.0
W7 W4 4v S-3 +3 -300 3.0 289.0 V1l V3 3#S-3 T -150 4.0 288.0(H23 H9 3NO+2 T -460 4.0 288.0
V14 V7 3NN-3 46 -300 3.0 280.0(012 O3 INO+2 #2 -150 4.0 288.0(V14 V8 44DN-2 &A -500 1.0 291.0
T19 T16 3NN -3 44 -300 3.0289.0| E9 E5 2¢DO= 4J -180 0.0 292.0|T24 T3 44DN-2 #A -500 1.0 291.0
El - 164.1 El - 164.1 El - 164.1
- N4 142.8 - N4 142.8 | D4 - 128.2
D9 - 154.4 D9 - 154.4 - N4 142.8
- A6 148.1 - A6 148.1 - A7 1394
J12 - 166.9 J12 - 166.9 J12 - 166.9
- M3 152.5 - M3 152.5 - M3 152.5
- 07 150.1 - 07 150.1 - 18 140.1
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D3 D21 34DS+1 ¢4 630 2910 10| R3 R2 54DO-5 #4J 1100 2920 0.0| G8 G1 2v N= «J 110 2920 0.0
V10 V6 34DS+1 ¢4 630 291.0 1.0| H8 H19 4v N+1 5 450 2900 20| Al A3 44 V-2 #A 100 283.0 9.0
P15 P7 3NO-3 44 300 28380 40| Bl B3 44 N= 46 420 2870 50(W4 W6 3NV-2 T 100 283.0 9.0
07 011 4v V-2 7 200 2840 80|W7 W5 4y S= 44 420 2870 50| S6 S4 44 V-2 «A 100 283.0 9.0
P18 P5 3NO-2 44 200 2840 80| V1 V4 4¢DV-2 4K 300 2840 80| J9 J6 3NO-2 T 100 283.0 9.0
T19 T25 3NO-2 49 200 2840 80| Al A3 24 N+2 &A 170 2750 17.0| U9 U3 3a V-2 #A 100 283.0 9.0
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a4
a4
a8
48
a2
a4
+3
a3
+Q
+Q
v5
+Q
a4
49
a9
&7
+5
a5
*Q
a4
a8
*Q
49
+8
a8
v7
+Q
+5
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+3
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*Q
a4

a5
+Q
+3
*Q
a4
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*Q
48
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170
140
140
140
110
110
110
110
110
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
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-50
-50
-50
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-100
-100
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-110
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280.0
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276.0
276.0
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268.0
268.0
268.0
268.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
247.0
230.0
222.0
222.0
222.0
222.0
222.0
222.0
222.0
213.0
213.0
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206.0
206.0
206.0
206.0
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198.0
198.0
187.0
187.0
187.0
187.0
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187.0
187.0
187.0
168.0
168.0
168.0
168.0
168.0
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154.0
154.0
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127.0
127.0
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127.0
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127.0
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127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0

72.0

72.0

72.0

12.0| H3 H22 24 N+2 T 170 2750 17.0|Vil
16.0| W3 W2 34 N+1 #A 170 2750 17.0|Vi3
16.0| E7 E11 24 N+2 5 170 2750 17.0| 116
16.0| R7 R5 3v N+1 &K 170 2750 17.0| V2
240| L8 L10 3a4 N+1 #A 170 2750 17.0| R3
240 |D14 D13 34 N+1 #A 170 2750 17.0| U4
24.0|P20 P1 3a4 N+1 &K 170 2750 17.0| Q5
240| V6 V12 2NS+1 +8 150 2660 26.0| S5
240| J1 J8 24 N+1 #A 140 1940 98.0| M7
450| NI N2 24 N+1 #A 140 1940 98.0| T7
450| O1 08 24 N+1 #A 140 1940 98.0| L8
450| S1 S3 3y S= &) 140 1940 980 |Vi4
450| T1 T16 24 N+1 #K 140 1940 98.0| I15
450| A2 A10 34 N= &K 140 194.0 98.0|T15
450| C2 C10 24 N+1 &A 140 1940 98.0|D18
450| J2 J10 34 N= #A 140 194.0 98.0 [H18
450| L2 L16 34 N= #A 140 194.0 98.0 [H24
450| T2 T11 24 N+1 &K 140 1940 980 |T27
450| V2 V3 24 N+1 T 140 194.0 98.0|U10
450| G3 G2 34 N= #A 140 1940 980 |L12
450| L3 L15 3¢ N= #A 140 1940 98.0 |Pl4
450 N3 N7 34 N= #K 140 1940 98.0| G3
450| X3 X2 3¢ N= #A 140 1940 98.0| K5
450| B4 B2 24 N+1 &A 140 1940 98.0| K7
450| C4 C5 24 N+1 #5 140 194.0 98.0| W7
620| F4 F14 34 N= #A 140 1940 980| F8
700| G4 G6 24 N+1 #A 140 1940 98.0| H8
700| 14 17 3¢ N= &K 140 1940 98.0| A9
70.0| L4 L14 24 N+1 #A 140 1940 980 |F12
700| N4 N6 1a N+2 5 140 1940 98.0 |H13
700| Q4 QL 34 N= #A 140 1940 98.0|L20
70.0| U4 U8 24 N+1 &K 140 1940 980 |T20
700| W4 W6 24 N+1 #A 140 1940 98.0| W3
79.0| D5 D12 24 N+1 #A 140 1940 98.0| L5
790| F5 F6 3vS=  +J 140 1940 98.0| O7
86.0| L5 L13 24 N+1 #A 140 1940 98.0| P8
86.0| Q5 Q7 34 N= #A 140 194.0 98.0 |All
860| S5 S2 3vS= 3 140 1940 98.0 [H16
86.0| D6 D15 34 N= #A 140 1940 980| Bl
86.0| 16 110 24 N+1 #A 140 1940 98.0| J1
940| C7 Cl 24 N+1 #K 140 1940 98.0| V1
940 | D7 D17 24 N+1 &A 140 1940 98.0| N3
940| G7 G5 3vS= #J 140 1940 98.0| F4
105.0 | K7 K11 24 N+1 #A 140 1940 98.0| I5
105.0 | M7 M11 140 1940 98.0| A6
105.0| P7 P11 2v N+1 #A 140 194.0 98.0|F10
1050 | T7 T19 3v S= #J 140 1940 980 |F11
1050 | X7 X5 34 N= &K 140 1940 980 |E12
1050 | D8 D19 34 N= #A 140 194.0 98.0|P20
1050| G8 G1 34 N= #A 140 1940 98.0| Q2
1050| Q8 Q6 2v N+1 &A 140 1940 98.0| 14
1240| R8 R1 3vy N= #A 140 1940 98.0| G7
1240| X8 X1 24 N+1 +5 140 1940 98.0| V8
1240| CO C6 24 N+1 #5 140 1940 98.0|T21
1240| E9 E6 24 N+1 #A 140 1940 98.0|T23
1240 | H9 H21 34 N= &#A 140 1940 98.0|T26
1240| J9 J6 24 N+1 &A 140 1940 98.0| D4
1240| K9 K6 24 N+1 #A 140 1940 98.0| E5
1240| 09 06 24 N+1 #A 140 1940 98.0| V6
1240| U9 U3 24 N+1 &K 140 1940 980| C7
1240 |F10 F1 34 N= #A 140 194.0 98.0 |D14
1240|T10 T8 24 N+1 #K 140 1940 98.0|T22
1380 |F11 F7 34 N= &A 140 1940 980| T1
138.0 [H11 H12 34 N= #A 140 1940 98.0| El
1380 |L11 L7 3y N= #A 140 1940 98.0| M1
165.0 |[F12 F2 24 N+1 &K 140 1940 980| C2
165.0 | J12 J4 24 N+1 #A 140 1940 98.0| H2
1650 | K4 K12 34 N= T 140 1940 98.0| J2
165.0 [H13 H5 3vy N= &A 140 1940 980| T2
1650| 114 13 34 N= #A 140 1940 98.0| U2
165.0 [V14 VO 3y N= #A 140 1940 98.0| H3
165.0 |[H16 H14 24 N+1 &A 140 1940 98.0| L3
165.0 |P16 P4 24 N+1 #A 140 1940 98.0| P3
165.0 |L17 L1 34 N= #A 140 1940 98.0| X3
165.0 |[P17 P12 24 N+1 &A 140 1940 98.0| D5
165.0 |P19 P10 24 N+1 #2 140 1940 98.0| F5
165.0 |T22 T12 24 N+1 #K 140 1940 98.0| X7
1650 |T26 T3 3v S= &J 140 1940 98.0| RS
165.0 | T27 T14 24 N+1 #K 140 1940 98.0| K9
1650| O5 O3 24 N= #A 110 1200 172.0| 111
165.0 |[P18 P6 24 N= 5 110 120.0 172.0 | J12
165.0 |T23 T24 24 N= &K 110 120.0 172.0 |P18
165.0| E1 E8 34 0O-2 48 100 113.0 179.0 |D20
1650| E5 E3 34 0-2 &8 100 113.0 179.0 |D21
165.0 | H6 H15 3¢ V-2 45 100 113.0 179.0| M9
165.0[D18 D2 3¢ O-2 &J 100 113.0 179.0| R4
1650 | H2 H20 4¢ V-1 &K 50 101.0 191.0| P7
1650| 02 010 3¢ V-1 &K 50 101.0 191.0| S1
1650| C8 C3 3¢ V-1 &K 50 101.0 191.0| O2
2200| F8 F3 3¢ V-1 &5 50 101.0 191.0| X4
2200 (V11 V7 3¢ V-1 4K 50 101.0 191.0| H6
220.0|D16 D1 44 0O-1 &J 50 101.0 191.0| C8
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W2 W1 24#0+4 48 -170 72.0 220.0 |H18 H1 3¢ V-1 4K 50 101.0 191.0| Q8 Q6 3NV= v8 -400 95.0 197.0
G3 G5 440+2 4 -170 72.0 220.0|T21 T18 3¢ V-1 5 50 101.0191.0| X8 X1 3NV= v7 -400 95.0 197.0
H3 H24 24 O+4 &4 -170 72.0 220.0| M1 M8 -50 57.02350| E9 E6 3NV= v4 -400 95.0 197.0
L4 L12 2v V+2 &7 -170 72.0 220.0| K2 K10 4v N-1  &A -50 57.0 235.0| 09 06 3NV= v7 -400 95.0 197.0
Q4 Q1 2vV+2 5 -170 72.0 220.0| M2 M10 -50 57.0 235.0 |K12 K4 3NV= v8 -400 95.0 197.0
T4 T5 1lvV+3 5 -170 72.0 220.0| Q2 Q3 44 N-1  #A -50 57.0 235.0|F13 F9 3NV= v2 -400 95.0 197.0
M5 M3 24 O+4 48 -170 72.0220.0( U2 Ul 4v S-1 *] -50 57.0 235.0(L17 L1 3NO= ¢4  -400 95.0 197.0
S5 S2 2vV+2 5 -170 72.0 220.0| P3 P5 44 N-1 v3 -50 57.0235.0| K1 K8 3NO+1 4 -430 49.0 243.0
V5 V11 44 O+2 42 -170 72.0 220.0| D4 D22 44 N-1  #A -50 57.02350| N1 N2 3NO+1 46 -430 49.0 243.0
D6 D16 2v V+2 &7 -170 72.0 220.0| H4 H25 44 N-1 &K -50 57.02350| O1 08 3NV+1 ¥8 -430 49.0 243.0
R6 R8 34 0O+3 &4 -170 7202200 R4 R6 4vy N-1 &A -50 57.0 235.0| A2 A10 3NV +1 46 -430 49.0 243.0
S6 S4 3#V+3 &7 170 72.0 220.0| X4 X6 4y N-1  &A -50 57.0 235.0| K2 K10 3NO+1 ¢2 -430 49.0 243.0
X6 X8 2vV+2 42 170 72.02200| 15 112 44 N-1 &K -50 57.0 235.0 | M2 M10 -430 49.0 243.0
F7 F2 2vV+2 ¢5 -170 72.0220.0| K5 K3 4vy N-1 &A -50 57.02350| B4 B2 3NV+1 v2 -430 49.0 243.0
L7 L9 2vV+2 &7 -170 720 2200 M5 M3 4v S-1 *] -50 57.02350| C4 C5 3NV+1 v4 -430 49.0 243.0
V7 V9 3#0+3 44 -170 7202200 T5 T6 44 N-1 &K -50 57.02350| G4 G6 3NO+1 ¢4 -430 49.0 243.0
C9 C6 3#0+3 44 -170 7202200 U5 U7 34 N-1 &A -50 57.0 235.0| H4 H25 3NV+1 ¥8 -430 49.0 243.0
F9 F12 44 O+2 44 -170 72.0 2200| A6 A5 44 N-1 &K -50 57.02350| N4 N6 3NV+1 T -430 49.0 243.0
J9 J6 3#40+3 44 -170 72.0 2200 S6 S4 4v N-1 «K -50 57.0 235.0( M5 M3 3NV+1 ¥8 -430 49.0 243.0
K9 K6 2v O+2 49 -170 72.0 220.0| H7 H17 4v S-1 & -50 57.0235.0| U5 U7 3NO+1 &2 -430 49.0 243.0
A10 A6 2vV+2 ¢2 -170 72.0 220.0| J7 J11 4vy N-1  #A -50 57.0 235.0| D6 D15 3NO+1 ¢4 -430 49.0 243.0
All A2 44 O0+2 &4 -170 72.0 220.0| O7 Ol1l1 4v S-1 s A -50 57.02350| 16 110 3NO+1 42 -430 49.0 243.0
H13 H11 24V +4 45 -170 72.0 220.0| P8 P15 4v N-1  #A -50 57.0 235.0| D7 D17 3NV +1 v2 -430 49.0 243.0
T13 T27 3v V+1 &7 -170 72.0 2200 A9 A4 44 N-1 #K -50 57.0 235.0| E7 E11 3NO+1 ¢2 -430 49.0 243.0
D15 D14 44 O+2 49 -170 72.0 220.0|U10 U6 44 N-1  #A -50 57.0 235.0 H7 H17 3NV+1 +8 -430 49.0 243.0
115 11 2vV+2 5 -170 72.0 220.0 (A1l A7 44 N-1 &A -50 57.0 235.0| J7 J11 3NO+1 2 -430 49.0 243.0
L18 L17 3&#V+3 46 -170 72.0220.0| 111 11 34 N-1 &A -50 57.02350| R7 R5 3NO+1 42 -430 49.0 243.0
T24 T3 2vV+2 &7 -170 72.0220.0(L12 L6 3v N-1 #A -50 57.0 235.0| D8 D19 3NV+1 ¥4 -430 49.0 243.0
K2 KI0 INO+3 49 -180 39.0 253.0 (012 04 44 N-1 &A -50 57.0 235.0| W8 W1 3NV+1 v4 -430 49.0 243.0
N3 N5 2NO+2 +Q -180 39.0253.0(T13 T4 34 N-1 &A -50 57.02350| C9 C6 3NO+1 46 -430 49.0 243.0
T6 T18 2v V+3 &7 -200 36.0 256.0 (V13 V5 44 N-1 #A -50 57.0 235.0| H9 H21 3NV+1 v2 -430 49.0 243.0
V1l V2 INO+4 &8 -210 34.0258.0(P14 P2 4v S-1 +8 -50 57.02350|T10 T8 3NV+1 ¥4 -430 49.0 243.0
U5 U7 44DS-3 &5 -500 32.0260.0( 115 12 44 N-1 &K -50 57.0 235.0 |H11 H12 3NV +1 ¥8 -430 49.0 243.0
D5 D13 3NO= 44 600 26.0 266.0|T15 T17 44 N-1 &A -50 57.02350|L11 L7 3NV+1 ¥8 -430 49.0 243.0
H5 H14 3NO= 44 600 26.0266.0( 116 18 4v N-1 &K -50 57.0235.0(T13 T4 3NV+l v2 -430 49.0 243.0
A8 A3 3NO= ¢Q -600 26.0266.0(L20 L9 4v S-1 L) -50 57.0235.0| 114 13 3NO+1 ¢4 -430 49.0 243.0
P9 P19 5# O= ¢Q -600 26.0 266.0 (D21 D9 44 N-1 &A -50 57.0 235.0|D16 D1 3NV+l1 ¥8 -430 49.0 243.0
L20 L8 3NO= ¢Q -600 26.0 266.0 |H24 H10 4v N-1 &A -50 57.0 235.0|P16 P4 3NV+1 v2 -430 49.0 243.0
R7 R4 4v V= ¢2 620 13.0279.0| K1 K8 3v N-2 #A -100 14.0 278.0 (P17 P12 3NV+1 ¥8 -430 49.0 243.0
X7 X4 4v V= 8 -620 13.0 279.0| V8 V10 44 N-2 &A -100 14.0 278.0|L19 L18 3NO+1 ¢4 -430 49.0 243.0
110 112 4y V= 42 620 13.0 279.0| W8 W1 4v S-2 #J -100 14.0 278.0(P19 P10 3NV+1 v8 -430 49.0 243.0
K4 K12 54 O+1 ¢5 -620 13.0 279.0| M9 M6 -100 14.0 278.0| L4 L14 44 V+1 &A -450 14.0 278.0
T12 T15 4v O= ¢Q -620 13.0279.0|F13 F9 44 N-2 &A -100 14.0278.0| L2 L16 3NO+2 ¢4 -460 7.0 285.0
F14 F3 4v V= 45 620 13.0 279.0 (D20 D3 44 N-2 &A -100 14.02780| Q4 Q1 3NV+2 ¥8 -460 7.0 285.0
D17 D1 4v V= 2 620 13.0279.0(T28 T9 4v S-2 T -100 1402780 O5 O3 3NV+2 v8 -460 7.0 285.0
D19 D2 4v V= &7 -620 13.0 279.0( P9 P13 2¢ V+1 &K -110 5.0 287.0| P9 P13 3NO+2 42 -460 7.0 285.0
09 06 3NO+1 +Q -630 3.0 289.0 | T20 T25 3¢ V= v6 -110 5.0 287.0 (012 04 3NV+2 T -460 7.0 285.0
012 04 3NO+1 44 -630 3.0 289.0|E12 E4 4v S-3 4A  -150 2.0290.0|T28 T9 3NO+2 ¢4 -460 7.0 285.0
R2 R1 3NO+2 ¢Q -660 0.0 292.0 | L19 L18 3NS-4 +8 -200 0.0 292.0| 75 T6 3vDN-3 «Q -800 0.0 292.0
E2 - 1735 E2 - 1735 E2 - 1735
D4 - 128.2 J5 - 137.2 J5 - 137.2
J5 - 137.2 - N5 159.3 - N5 159.3
- N4 142.8 |D10 - 152.0 D10 - 152.0
- A7 139.4 - A8 129.0 - A8 129.0
- M4 1554 - M4 155.4 - M4 155.4
- 18 140.1 - 19 115.0 - 19 115.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D1 D15 6¢ N= #A 920 2920 00| D1 D15 44DV-4 &K 1100 2920 00| Q3 Q4 4v V-2 45 100 2900 2.0
T3 T12 5¢DS= &A 550 2900 20| A2 A4 2v0O-3 #8 300 2850 7.0 14 115 4v V-2 45 100 290.0 2.0
M9 M7 510 288.0 4.0| O3 010 34 V-3 #K 300 2850 7.0({T12 T10 4v V-2 45 100 2900 2.0
M8 M11 500 285.0 7.0|H10 H22 44 V-3 #K 300 2850 70| L2 L1 4vV-1 «A 50 2830 9.0
D9 D20 54DV-2 ¢K 500 2850 7.0(U10 U7 34 V-3 #K 300 2850 70| T7 T8 4v V-1 43 50 2830 90
A3 All 3NS+2 42 460 2820 100(F11 F2 2vO-3 #8 300 2850 70| 09 O7 3NO-1 44 50 2830 9.0
E2 E1 3NS+1 #2 430 278.0 14.0|D22 D10 2¢v O-3 #2 300 2850 7.0(P18 P8 5¢ O-1 48 50 2830 90
R8 R1 3NS+1 &6 430 278.0 14.0| B4 B2 44 V-2 #K 200 2720 20.0| O8 O11 2NO= 48 -120 278.0 14.0
V9 V11 3NS+1 #2 430 278.0 14.0| X4 X6 34 V-2 #K 200 2720 200 A8 A7 2¢ O+3 v6 -150 2750 17.0
Al A8 5¢ N= vK 400 253.0 39.0| 09 O7 34 V-2 &5 200 2720 20.0(T11 T28 3¢ O+2 &«J -150 275.0 17.0
L1 L19 3NN= v2 400 253.0 39.0|L12 L8 44 V-2 &K 200 2720 200( F1 F9 3vV+1l &A -170 269.0 23.0
I3 115 5¢ N= #5 400 253.0 39.0(D17 D2 3& V-2 &K 200 2720 200| T4 T1 3vV+l ¢9 -170 269.0 23.0
03 010 3NN= vK 400 253.0 39.0|P17 P1 3vO-2 &3 200 2720 20.0| E8 E11 3vV+l 45 -170 269.0 23.0
B4 B2 5¢ N= vK 400 253.0 39.0|T22 T19 2v O-2 &8 200 2720 20.0|H20 H3 3vV+1 43 -170 269.0 23.0
R4 R6 3NS= 42 400 2530 39.0| T2 T17 INN+3 v4 180 264.0 28.0| A2 A9 3NO= 44 400 246.0 46.0
06 04 5¢ N= vK 400 253.0 39.0| R3 R2 INN+2 ¥4 150 260.0 320| E2 E1 3NV= «4  -400 246.0 46.0
S6 S4 3NS= 42 400 2530 39.0| H7 H16 INN+2 ¥4 150 2600 320| O2 O1 3NO= v3 -400 246.0 46.0
E8 E11 3NN= v3 400 253.0 39.0| E9 E7 INN+2 ¥4 150 260.0 32.0| S3 S2 3NO= 48 -400 246.0 46.0
Q8 Q7 5¢ S= 4A 400 253.0 39.0( Bl B3 44 N= #A 130 2550 370 V3 V6 3NV= «5 -400 246.0 46.0
19 116 5¢ N= #A 400 253.0 39.0| E8 E11 24 N+2 #3 130 255.0 37.0| B4 B3 5¢ O= &5 -400 246.0 46.0
J9 J7 5¢ N= vK 400 253.0 39.0| V9 V11 INN+1 T 120 251.0 41.0| W4 W3 3NV= 42  -400 246.0 46.0
09 07 3NS= #2 400 2530 39.0(T28 T10 INN+1 ¥4 120 2510 410| P5 P7 3NO= 49 -400 246.0 46.0
F12 F8 5¢ S= 4A 400 253.0 39.0| L1 L19 3&S= v7 110 228.0 64.0| Q5 Q2 3NO= 46 -400 246.0 46.0
J12 J5 3NS= #2 400 2530 39.0( M2 M1 110 228.0 64.0| 16 19 3NV= «4  -400 246.0 46.0
L12 L8 3NN= vK 400 253.0 39.0| O2 Ol1 2#S+1 v7 110 2280 640| J6 J4 3NV= v7 -400 246.0 46.0
V12 V8 5¢ S= 4A 400 253.0 39.0| A3 All 3 S= v7 110 228.0 64.0| L6 L16 3NV= 47 -400 246.0 46.0
H14 H6 5¢ N= #A 400 253.0 39.0( C3 C10 3& N= 43 110 2280 64.0| U6 U8 3NV= «4  -400 246.0 46.0
H17 H1 3NS= 43 400 2530 39.0| G3 G2 3&N= 43 110 2280 64.0 K8 K11 3NV= 45 -400 246.0 46.0
P20 P2 5¢ N= #A 400 2530 39.0( I3 115 2#S+1 v7 110 2280 64.0| J9 J7 3NO= 44 400 246.0 46.0
D21 D4 3NS= #8 400 2530 39.0( R4 R6 3&N= 3 110 2280 640| K9 K7 3NO= 44 400 246.0 46.0
T28 T10 3NN= 4J 400 2530 39.0( W4 W6 3& N= 43 110 2280 64.0(L10 L12 3NO= 4J -400 246.0 46.0
T23 T1 INN+3 ¢K 180 230.0 62.0| L5 L15 2#S+1 v7 110 228.0 64.0|F14 F6 3NV= v7 -400 246.0 46.0
T2 T17 3¢ N+2 #8 150 2220 70.0| K6 K4 3« N= 4K 110 2280 64.0|T17 T19 3NV= «4  -400 246.0 46.0
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700| R7 R5 34
70.0| X7 X5 34
700| C8 C2 34
70.0 | H8 H18 2v
70.0| Q8 Q7 34
70.0 | P13 P10 24
119.0 |H14 H6 24
119.0| 114 14 34
119.0 V14 V10 34
119.0 | L18 L2 34
119.0| Al A8 2a
119.0| F1 F3 4a
119.0| V1 V6 3a
119.0 | H3 H21 4a
119.0 | M3 M10

119.0| N3 N7 3e
119.0| S5 S2 3a
119.0 | M8 M11

119.0| 08 011 3N
119.0| D9 D20 4a
119.0 | H9 H20 3a
119.0| J9 J7 3e
119.0| 112 12 24
119.0 [T14 T5 3a
119.0 | T16 T18 4e

¢T 110 2280 64.0| F2
#A 110 228.0 64.0 (V10
v4 110 2280 64.0| C1
5 110 2280 64.0| H1
3 110 2280 64.0( 11
v7 110 228.0 64.0| N2
v7 110 228.0 64.0| P2
110 228.0 64.0| R2
¢T 110 2280 64.0| X2
4K 110 228.0 64.0( A3
#K 100 190.0 102.0 | K3
#K 100 190.0 102.0 [ M3
#K 100 190.0 102.0 | O3
#K 100 190.0 102.0 | Al

100 190.0 102.0| G4
#K 100 190.0 102.0 | S4
#K 100 190.0 102.0| Vv4

100 190.0 102.0| C5
8 100 190.0 102.0 | G5
#K 100 190.0 102.0 [ H5
v5 100 190.0 102.0| L5
#2 100 190.0 102.0 | D6
190.0 102.0 | E6
#K 100 190.0 102.0 | K6
#K 100 190.0 102.0 | S6
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119.0 | T21 T25 44 V- #K 100 190.0 102.0 | D7
119.0 |H25 H11 44 O- #«9 100 190.0 102.0( 7
119.0| E6 E4 2# N= 43 90 167.0 125.0| C8
119.0| J6 J4 24 N= 43 90 167.0 125.0| H8
119.0| W7 W5 INS= 42 90 167.0 125.0( 18
119.0|012 O5 2# N= 43 90 167.0 125.0 | D9
119.0 |P19 P11 2& S= v7 90 167.0 125.0| E9
119.0|P20 P2 2# N= v7 90 167.0 125.0| H9
119.0|T23 T1 Pass 160.0 132.0| T9
119.0| N1 N2 1a V= &K -80 158.0 134.0 |D10
119.0| C1 C4 34#S-1 v7 -100 137.0 155.0 |H10
119.0| E2 E1 2NS-1 42 -100 137.0 155.0 | J12
119.0| J2 J1 INN-1 3 -100 137.0 155.0 (K12
119.0| Q3 Q4 2v S-1 +8 -100 137.0 155.0 [F13
119.0 | W3 W2 44 S-1 v7 -100 137.0 155.0 |H14
119.0| G4 G6 2v S-1 #6 -100 137.0 155.0 (P14
119.0| F6 F7 2NS-1 v7 -100 137.0 155.0|V14
119.0| T6 T7 3« N-1 v6 -100 137.0 155.0 |H18
119.0| D7 D16 4« N-1 4K -100 137.0 155.0 (P19
119.0| D8 D18 3# S-1 v7 -100 137.0 155.0 |D20
119.0| T8 T20 5# S-1 v7 -100 137.0 155.0 | P20
119.0| X8 X1 44 N-1 3 -100 137.0 155.0 (T24
119.0| K9 K7 4#S-1 v7 -100 137.0 155.0|T26
163.0| L9 L11 34« N-1 43 -100 137.0 155.0| Q6
163.0|T11 T9 3& N-1 3 -100 137.0 155.0 (D18
175.0|F12 F8 4# N-1 3 -100 137.0 155.0 (D22
175.0|J12 J5 4# N-1 4K -100 137.0 155.0| D1
175.0|P15 P9 INN-1 v6 -100 137.0 155.0| B2
175.0|T24 T13 INN-1 +5 -100 137.0 155.0 | D2
175.0|T26 T4 3#S-1 v7 -100 137.0 155.0| G2
175.0| L3 L17 24 V= #K -110 108.0 184.0( J2
175.0| P3 P14 2¢ V+1 &K -110 108.0 184.0| K2
175.0| H5 H12 14 V+1 #K -110 108.0 184.0 (| M2
175.0 | D6 D14 24 V= #K -110 108.0 184.0 | V2
175.0| 17 111 24 V= «K -110 108.0 184.0 | W2
187.0| 19 116 2v O= ¢A -110 108.0 184.0| C3
187.0|A10 A5 14 V+1 &K -110 108.0 184.0| T3
227.0 (V12 V8 24 V= *J -110 108.0 184.0| H4
227.0|T27 T15 3¢ O= 8 -110 108.0 184.0 | N4
227.0| L6 L14 3¢ O+1 «9 -130 98.0 194.0| R4
227.01 Ul U4 24 V+1 ¢5 -140 68.0 224.0| X4
2270 K2 K1 24 V+1 &2 -140 68.0 2240| 15
227.0| K3 K10 24 V+1 #K -140 68.0 224.0| N5
227.0| T3 T12 24 V+1 #K -140 68.0 2240| R5
2270 V3 V4 24 V+1 &K -140 68.0 224.0| U5
227.0| X3 X2 34 V= #K -140 68.0 224.0 | W5
227.0| H4 H23 3a V= K -140 68.0 224.0( X5
227.0| L4 L16 34 V= «K -140 68.0 224.0 | H6
227.0| N4 N6 34 V= #K -140 68.0 224.0 | M6
2270| C5 C6 1la V+2 T -140 68.0 224.0| O6
2270 I5 18 24 V+1 ¢5 -140 68.0 224.0| F7
2270 Q5 Q2 24 V+1 #K -140 68.0 224.0| L7
227.0 U5 U9 3a V= #K -140 68.0 2240 R7
227.0( M6 M4 -140 68.0 224.0 | W7
22701 Q6 Q1 24 V+1 #K -140 68.0 224.0| X7
227.0 U6 U8 3a V= #K -140 68.0 224.0( D8
2270 A7 A6 34 V= «K -140 68.0 224.0( J8
227.0| G7 G5 34 V= &K -140 68.0 224.0 | M8
227.0| V7 V13 3 V= «K -140 68.0 224.0| Q8
227.0| K8 K11 34 V= «K -140 68.0 224.0( V8
227.0| P8 P12 34 V= T -140 68.0 224.0( C9
2270 R8 R1 3 V= *J -140 68.0 224.0 | M9
2270 C9 C7 34 V= #K -140 68.0 224.0( P9
2270 F9 F4 24 V+1 v2 -140 68.0 224.0|F10
227.0 (D13 D12 3a V= #K -140 68.0 224.0 (P10
227.0 [H15 H13 34 V= «K -140 68.0 224.0 (Ul10
227.0|H19 H2 24 V+1 v2 -140 68.0 224.0 |All
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T11 T9 5¢ N-1 vQ -50 65.0 227.0 | L20 L10 34 V= #K -140 68.0 224.0 [H11 H23 3NV+2 v5 -460 70.0 222.0
E12 E5 5¢ N-1 vA -50 65.0 227.0|D21 D4 34 V= &K -140 68.0 224.0(E12 E5 3NO+2 5 -460 70.0 222.0
012 O5 3NS-1 v5 -50 65.0227.0| V2 V5 34 V+1l &K -170 30.0 262.0|F12 F3 3NV+2 &4 -460 70.0 222.0
T16 T18 5¢ N-1  &A -50 65.0 227.0| P5 P16 24 V+2 ¥5 -170 30.0 262.0|012 O5 3NV+2 7 -460 70.0 222.0
P17 P1 3NN-1 vK -50 65.0227.0| 16 11 34 V+1l &K -170 30.0 262.0|T13 T14 3NV+2 #4 -460 70.0 222.0
L18 L2 5¢ N-1 &J -50 65.0 227.0| O6 04 24 V+2 #K -170 300 262.0(V13 V9 3NV+2 #4 -460 70.0 222.0
T21 T25 4¢ N-1  &A -50 65.0 227.0| J8 J11 24 O+2 ¥5 -170 30.0 262.0|L14 L8 3NO+2 &4 -460 70.0 222.0
T22 T19 5¢ N-1 vK -50 65.0 227.0 |[K12 K5 24 V+2 ¥5 -170 30.0 262.0 |H15 H7 3NV+2 #4 -460 70.0 222.0
02 01 3NN-2 vJ -100 16.0 276.0|F13 F10 34 O+1 vA -170 30.0262.0(T15 T6 3NO+2 &5 -460 70.0 222.0
I5 18 5¢ N-2 vK -100 16.0 276.0|H17 H1 34 V+1 &K -170 30.0 262.0| 116 110 3NV +2 &4 -460 70.0 222.0
Q5 Q2 44 S-2 v5 -100 16.0 276.0 (P18 P7 24 V+2 &K -170 30.0 262.0|T16 T27 3NO+2 49 -460 70.0 222.0
U6 U8 5¢ S-2 3 -100 16.0 276.0| S1 S3 3NS-2 42 200 150277.0(L19 L3 3NO+2 &5 -460 70.0 222.0
C8 C2 5¢ N-2 vK -100 16.0 276.0| U3 U2 24 V+3 &K -200 15.0277.0(T22 T25 3NV+2 &6 -460 70.0 222.0
J8 J11 5¢ N-2 vK -100 16.0 276.0| P4 P6 34 S-2 45 200 15.0277.0(T23 T20 3NV+2 &6 -460 70.0 222.0
C9 C7 5¢ N-2 vK -100 16.0 276.0| G8 G1 3#N-2 4K -200 1502770( U3 U2 4v V+2 ¢8 -480 13.0 279.0
Ul0 U7 5¢ N-2 #A -100 16.0 276.0(L13 L7 3vDS-1 #6 -200 150 277.0(P11 P13 4v V+2 #4 -480 13.0 279.0
L13 L7 5¢DN-1 vK -100 16.0 276.0(D19 D3 44 N-2 ¢T -200 15.0277.0| Ul U4 3NO+3 49 -490 5.0 287.0
D17 D2 5¢ N-2 vK -100 16.0 276.0|E12 E5 3v S-4 ¢2 -400 8.0284.0| L4 L18 3NV+3 ¢9 -490 5.0 287.0
D19 D3 5¢ N-2 vK -100 16.0 276.0| S6 S4 3¢DN-2 42 -500 4.0 288.0| G7 G6 3NV+3 #4 -490 5.0 287.0
W4 W6 2v O= v4  -110 4.0 288.0| W8 W1 3vDS-2 A -500 4.0 288.0|L13 L9 3NO+3 48 -490 5.0 287.0
N1 N2 3a V= ¢K -140 1.0 291.0| M9 M7 -500 4.0 288.0|P16 P6 3NO+3 44 -490 5.0 287.0
16 11 34 V= ¢K -140 1.0 291.0| F5 F14 4e V= K  -620 0.0 292.0|L20 L11 3NO+3 v9 -490 5.0 287.0
E3 - 133.7 E3 - 133.7 E3 - 133.7
- J10 143.6 - J10 143.6 - J10 143.6
D5 - 147.2 D5 - 147.2 - N6 147.0
- N5 159.3 - N5 159.3 - A10 152.4
- A9 148.5 - A9 148.5 |D12 - 134.6
- M5 134.3 - M5 134.3 - M5 134.3
- 110 149.7 - 110 149.7 - 11 143.1
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
03 02 3NS+2 v2 460 2690 230 C1 C3 6v V-1 v7 100 2860 6.0 K9 K8 3«aDN= 48 530 2920 0.0
B4 B3 3NN+2 v6 460 269.0 23.0| B2 Bl 6v V-1 v7 100 286.0 6.0| M1 M11 470 2900 2.0
14 115 3NN+2 ¢7 460 269.0 23.0| E3 E2 6v V-1 «5 100 2860 6.0(H19 H3 3NS+1 ¢5 430 288.0 4.0
N4 N1 3NN+2 &4 460 269.0 23.0| L3 L2 6v V-1 45 100 2860 60| V5 V6 3NS= 5 400 284.0 8.0
V4 V5 3NS+2 ¢2 460 269.0 23.0| 16 114 6v V-1 45 100 2860 6.0 S6 S5 3NS= 6 400 284.0 8.0
W4 W3 3NN+2 &2 460 269.0 23.0| J6 J12 6v V-1 42 100 286.0 6.0{D21 D5 3NS= 46 400 284.0 8.0
X5 X1 3NS+2 &6 460 269.0 23.0| Q8 Q1 6v V-1 45 100 2860 6.0(H15 H1l 3vV-4 4A 200 280.0 12.0
J6 J12 3NS+2 &4 460 269.0 23.0| A5 A2 3vV+2 «3 -200 277.0 15.0| E1 E11 2NS+2 9 180 278.0 14.0
D7 D15 3NN+2 &A 460 269.0 23.0(T23 T25 3vV+2 45 -200 277.0 15.0| B2 Bl 3v V-3 4A 150 273.0 19.0
L7 L15 3NS+2 &6 460 269.0 23.0| X4 X3 44DN-2 vA -500 2740 18.0| N2 N3 2NV-3 «J 150 273.0 19.0
M7 M5 460 269.0 23.0( O1 Ol11 4v V= 5 -620 270.0 22.0(V11 V13 3v V-3 4A 150 273.0 19.0
T7 T8 3NS+2 &4 460 269.0 23.0| N4 N1 4v V= 42 -620 270.0 22.0(L15 L9 4v V-3 4A 150 273.0 19.0
X7 X6 3NS+2 &4 460 269.0 23.0| U4 U3 4v V= 5 -620 270.0 22.0| A3 Al10 34 N= +8 140 262.0 30.0
A8 A7 3NS+2 #4 460 269.0 23.0(L14 L10 3NO+1 &6 -630 266.0 26.0| O4 O10 34 N= 8 140 262.0 30.0
D8 D17 3NS+2 #4 460 269.0 23.0( Al A7 4vV+1l 42 -650 138.0 154.0| U4 U3 34 N= ¢4 140 262.0 30.0
M9 M8 460 269.0 23.0| E1 E11 4vV+1l 2 -650 138.0 154.0| N5 N7 34 N= +8 140 262.0 30.0
T9 T21 3NS+2 43 460 269.0 23.0| F1 F4 4vV+1 &4 -650 138.0 154.0( J6 J12 24 N+1 ¢6 140 262.0 30.0
H10 H21 3NS+2 &4 460 269.0 23.0| J1 J11 4vV+1 &5 -650 138.0 1540 P6 P8 24 N+1 &A 140 262.0 30.0
V10 V12 3NS+2 ¢6 460 269.0 23.0| K1 K11 4v V+1 5 -650 138.0 154.0|P17 P3 24 N+1 ¢8 140 262.0 30.0
All A6 3NS+2 &4 460 269.0 23.0| L1 L4 4vV+1 &3 -650 138.0 154.0| D2 D15 2N S= 48 120 251.0 41.0
T16 T27 3NS+2 T 460 269.0 23.0| M1 M11 -650 138.0 154.0| A4 A6 2NS= v7 120 251.0 41.0
D20 D4 3NS+2 &4 460 269.0 23.0| T1 T11 4v V+1 42 -650 138.0 1540 G5 G1 2NS= 46 120 251.0 41.0
P20 P3 3NS+2 #4 460 269.0 23.0( V1 V10 4v V+1 &3 -650 138.0 154.0| X7 X6 2NS= ¢6 120 251.0 41.0
T23 T20 3NS+2 ¢2 460 269.0 230 C2 C5 4vV+1l &«J -650 138.0 1540 C1 C3 24 N= +8 110 226.0 66.0
H1 H16 44 N+1 9 450 243.0 49.0| D2 D15 4v V+1 «4 -650 138.0 154.0| J1 J11 24 S= +8 110 226.0 66.0
T11 T28 44 N+1 &«4 450 243.0 49.0| F2 F10 4v V+1 45 -650 138.0 154.0| J4 J10 24 N= +8 110 226.0 66.0
K1 K11 3NS+1 43 430 2140 780| G2 G8 4v V+1 7 -650 138.0 154.0| K4 K10 24 N= +8 110 226.0 66.0
O1 O11 3NS+1 48 430 2140 78.0| H2 H17 4v V+1 42 -650 138.0 154.0| W4 W3 14 N+1 ¢8 110 226.0 66.0
B2 Bl 3NS+1 43 430 2140 78.0| 12 14 4vV+1 7 -650 138.0 1540 T5 T2 24 N= +8 110 226.0 66.0
U2 U5 3NS+1 v4 430 2140 780( N2 N3 4vV+1l «J -650 138.0 154.0| U6 Ul 34 S= 48 110 226.0 66.0
W2 W8 3NN+1 3 430 2140 780| R2 R8 4v V+1 42 -650 138.0 154.0| H7 H14 24 N= +8 110 226.0 66.0
M3 M2 430 2140 78.0| U2 U5 4v V+1 «3 -650 138.0 154.0| P7 P16 24 N= +8 110 226.0 66.0
S3 S2 3NS+1 v4 430 2140 780 W2 W8 4v V+1 &5 -650 138.0 154.0| Q7 Q2 24 N= +8 110 226.0 66.0
V3 V6 3NS+1 T 430 2140 78.0| X2 X8 4v V+1l v7 -650 138.0 154.0| D8 D16 24 N= +8 110 226.0 66.0
H4 H22 3NN+1 T 430 2140 78.0| A3 A10 4vV+1 #J -650 138.0 154.0| T8 T9 24 N= ¢4 110 226.0 66.0
L4 L18 3NS+1 ¢T 430 214.0 78.0| D3 D17 4v V+1 42 -650 138.0 154.0| A9 A8 24 N= +8 110 226.0 66.0
G5 Gl 3NS+1 43 430 2140 780| F3 F5 4vV+1l 42 -650 138.0 154.0| E9 E8 24 N= +8 110 226.0 66.0
N5 N7 3NS+1 6 430 2140 780| K3 K2 4vV+l 42 -650 138.0 154.0| H9 H18 24 N= ¢4 110 226.0 66.0
R5 R1 3NN+1 ¢2 430 2140 78.0| M3 M2 -650 138.0 154.0| O9 08 24 N= +8 110 226.0 66.0
E6 E12 3NS+1 &7 430 2140 780 O3 02 4vV+1 &2 -650 138.0 154.0 (H10 H20 24 N= +8 110 226.0 66.0
06 012 3NS+1 43 430 2140 78.0| V3 V8 4v V+1 &«4 -650 138.0 154.0|T13 T3 24 N= +8 110 226.0 66.0
E7 E5 3NN+1 v7 430 2140 78.0| A4 A6 4vV+1 #J -650 138.0 154.0( 115 I5 24 N= +8 110 226.0 66.0
O7 O5 3NS+1 4 430 2140 780| B4 B3 4vV+1l 42 -650 138.0 154.0|P15 P11 24 N= +9 110 226.0 66.0
U7 U9 3NS+1 v4 430 2140 78.0| C4 C10 4vV+1 42 -650 138.0 154.0|T17 T27 24 N= +8 110 226.0 66.0
H8 H17 3NS+1 v2 430 2140 780| G4 G3 4vV+l «3 -650 138.0 154.0|F11 F6 3v V-2 4Q 100 203.0 89.0
K9 K8 3NS+1 T 430 2140 780 J4 JI10 4vV+1 &5 -650 138.0 154.0|H16 H8 3v V-2 4A 100 203.0 89.0
09 08 3NN+1 #2 430 2140 78.0| K4 K10 4v V+1 42 -650 138.0 154.0| O1 O11 14 N= ¢4 80 200.0 92.0
D10 D21 3NS+1 47 430 214.0 78.0| M4 M10 -650 138.0 154.0 A1 A7 3NS-1 +5 -50 169.0 123.0
T12 T10 3NS+1 43 430 2140 78.0| O4 O10 4y V+1 7 -650 138.0 1540 F1 F4 24 N-1 vA -50 169.0 123.0
F13 F11 3NS+1 T 430 2140 780| Q4 Q5 4vV+l &5 -650 138.0 154.0 K1 K11 34 N-1 +38 -50 169.0 123.0
L14 L8 3NS+1 ¢T 430 2140 780 R4 R3 4v V+1l 42 -650 138.0 154.0| U2 U5 3NS-1 +6 -50 169.0 123.0
P14 P4 3NS+1 43 430 2140 780| S4 S1 5vV= 45 -650 138.0 154.0| X2 X8 34 N-1 +8 -50 169.0 123.0
116 110 3NS+1 ¢T 430 2140 78.0( T4 T19 4v V+1 &J -650 138.0 154.0| D3 D17 24 N-1 vA -50 169.0 123.0
G4 G3 44 N= ¢3 420 182.0 1100 V4 V7 4v V+1 &5 -650 138.0 154.0| E3 E2 24 N-1 8 -50 169.0 123.0
M4 M10 420 182.0 1100 | W4 W3 4y V+1 42 -650 138.0 154.0| L3 L2 24 N-1 8 -50 169.0 123.0
H5 H24 44 N= v7 420 182.0 1100| G5 G1 4vV+1 &2 -650 138.0 154.0| M3 M2 -50 169.0 123.0
C9 C8 44 N= #A 420 182.0 110.0| H5 H23 4v V+1 #3 -650 138.0 154.0| V3 V8 24 N-1 vA -50 169.0 123.0
F12 F3 44 N= #A 420 182.0 110.0| L5 L19 4v V+1 &5 -650 138.0 154.0| C4 C10 24 N-1 8 -50 169.0 123.0
Cl C3 5&N= 4Q 400 128.0 1640 N5 N7 4v V+1 5 -650 138.0 154.0| R4 R3 24 N-1 8 -50 169.0 123.0
E1 E11 3NS= 43 400 128.0 164.0| P5 P14 4v V+1 &3 -650 138.0 154.0| T4 T19 3¢ S-1 v7 -50 169.0 123.0
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1640| R5 R1 4v O+1 43 -650 138.0 154.0( X4
1640| T5 T2 4vV+1l &3 -650 138.0 154.0| L5
1640| V5 V6 4vV+1 &2 -650 138.0 154.0| P5
164.0| X5 X1 4vV+l &3 -650 138.0 154.0 | W5
1640| C6 C7 4vV+1l 42 -650 138.0 154.0| K6
164.0| D6 D12 4v V+1 44 -650 138.0 154.0| J7
164.0| E6 E12 4v V+1 ¢3 -650 138.0 154.0( K7
164.0| H6 H25 4v V+1 ¢2 -650 138.0 154.0 | M7
164.0| K6 K12 4v V+1 42 -650 138.0 154.0| O7
164.0| L6 L18 4v V+1 &4 -650 138.0 154.0( Q8
164.0| O6 012 4v V+1 &5 -650 138.0 154.0| C9
1640| P6 P8 4v V+l &5 -650 138.0 154.0 (P10
1640| Q6 Q3 4v V+1l 43 -650 138.0 154.0L11
164.0| S6 S5 5v V= 42 -650 138.0 154.0 (F14
164.0| U6 Ul 5v V= 5 -650 138.0 154.0 (V14
164.0| D7 D14 4v V+1 &5 -650 138.0 154.0 (P19
1640| E7 E5 4v V+1 &J -650 138.0 154.0 [ T23
1640| G7 G6 4vV+1 ¢2 -650 138.0 154.0| T1
164.0| H7 H14 4v V+1 v7 -650 138.0 154.0( F2
164.0| 17 110 4vV+1 &3 -650 138.0 154.0| G2
1640| J7 J5 4vV+1 42 -650 138.0 154.0| H2
164.0| K7 K5 4vV+l 43 -650 138.0 154.0 | R2
164.0| L7 L17 4vV+1 45 -650 138.0 154.0 | W2
164.0 | M7 M5 -650 138.0 154.0| K3
164.0| O7 O5 4vV+l &5 -650 138.0 154.0( O3
164.0| P7 P16 4vV+1 42 -650 138.0 154.0| S3
1640| Q7 Q2 4vV+1l &3 -650 138.0 154.0( M4
164.0| R7 R6 4v V+l1 ¢5 -650 138.0 154.0 | N4
164.0| U7 U9 4vV+1l 42 -650 138.0 154.0| S4
1640 | W7 W6 4vV+1 7 -650 138.0 154.0| V4
164.0| X7 X6 4vV+1 #5 -650 138.0 154.0( A5
164.0| D8 D16 4v V+1 & -650 138.0 154.0 | R5
1640| F8 F9 4v V+l1 &5 -650 138.0 154.0( E6
164.0| 18 I3 4vV+1l &5 -650 138.0 154.0( H6
164.0| L8 L16 4vV+1 &3 -650 138.0 154.0| 16
1640| T8 T9 4v V+1l #5 -650 138.0 154.0( Q6
164.0| A9 A8 4v V+l 43 -650 138.0 154.0( 1|7
1640| C9 C8 4vV+1l 44 -650 138.0 154.0| R7
164.0| D9 D18 4v V+1 &5 -650 138.0 154.0 | W7
164.0| E9 E8 4vV+l 43 -650 138.0 154.0( F8
164.0| H9 H18 4v V+1 &5 -650 138.0 154.0| D9
1640 J9 J8 4vV+1l 42 -650 138.0 154.0 | M9
164.0| M9 M8 -650 138.0 154.0| P9
1640 O9 08 4vV+l1 7 -650 138.0 154.0| V9
164.0| P9 P18 4v V+1 &5 -650 138.0 154.0 (T10
1640| V9 V2 4v V+1l 42 -650 138.0 154.0 (Ul10
164.0 |D10 D20 4v V+1 ¢2 -650 138.0 154.0 |H11
215.0 [H10 H20 4v V+1 ¢7 -650 138.0 154.0|T12
2150 (P10 P2 4v O+1 &6 -650 138.0 154.0|D13
218.0|T10 T22 4v V+1 &5 -650 138.0 154.0 | F13
221.0(U10 U8 4v V+1 6 -650 138.0 154.0|T14
221.0|F11 F6 4v V+1l 5 -650 138.0 154.0|T18
224.0 |H11 H22 4 V+1 «2 -650 138.0 154.0 |H21
226.0( 111 116 4v V+1 3 -650 138.0 154.0|T24
229.0 | L11 L13 4v V+1l 43 -650 138.0 154.0| L1
229.0|V11 V13 4v V+1 42 -650 138.0 154.0| V1
2540 |H12 H24 4v V+1 42 -650 138.0 154.0| C2
254.0 (P12 P13 4v V+1 42 -650 138.0 154.0| 12
254.0|T12 T28 4v V+1 v7 -650 138.0 154.0| F3
2540 |F13 F12 4v V+1 v7 -650 138.0 154.0| G4
2540 |T13 T3 4v V+1 42 -650 138.0 154.0| Q4
2540 |F14 F7 5v V= 4  -650 138.0 154.0| H5
254.0|T14 T15 4v V+1 v7 -650 138.0 154.0| C6
254.0 (V14 V12 5v V= 43 -650 138.0 154.0( L6
2540 |H15 H1 4vV+1l v7 -650 138.0 154.0| O6
2540115 I5 4vV+1l &5 -650 138.0 154.0| E7
2540 (L15 L9 4vV+l 43 -650 138.0 154.0| U7
2540 |H16 H8 4v V+1 42 -650 138.0 154.0 |D10
2540 (|T16 T7 4v V+1l 6 -650 138.0 154.0|L14
254.0 (P17 P3 4y V+1l 7 -650 138.0 154.0|T16
254.0 | T17 T27 4v V+1 &3 -650 138.0 154.0 |D19
254.0|T18 T20 4v V+1 44  -650 138.0 154.0 |P20
254.0 D19 D4 4y V+1l 7 -650 138.0 154.0| D6
254.0|H19 H3 4v V+1l &5 -650 138.0 154.0| X5
2540(P19 P1 4vV+1l &5 -650 138.0 154.0| 18
254.0 | L20 L12 4v V+1 45 -650 138.0 154.0| L8
254.0|P20 P4 4v V+1 #2 -650 138.0 154.0| 19

254.0|D21 D5 4vV+1l 5 -650 138.0 154.0 |H12
2540 (H21 H4 4v V+1 5 -650 138.0 154.0|T26
283.0|T24 T21 5v V= 42 -650 138.0 154.0( B4
283.0|T26 T6 4v V+1 42 -650 138.0 154.0| D7
283.0| S3 S2 4vV+2 &5 -680 5.0 287.0| G7
283.0| W5 W1 4v V+2 &5 -680 5.0 287.0| L7
2830 19 11 4vV+2 +5 -680 5.0 287.0| J9
283.0 K9 K8 4v V+2 2 -680 5.0 287.0 | P12
290.0 (D13 D1 4v V+2 4 -680 5.0 287.0| L20
292.0|P15 P11 4v V+2 ¢5 -680 5.0 287.0| 111
130.9 - J2 130.9 -

E4 - 144.4 E4

M6 - 180.0 M6
147.0 - N6 147.0 -
152.4 - D22 138.1 -
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190.0
190.0
190.0
190.0
190.0
190.0
190.0
190.0
190.0
190.0
190.0
190.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
245.0
264.0
271.0
271.0
271.0
271.0
271.0
271.0
284.0
284.0
284.0
284.0
284.0
284.0
284.0
292.0
130.9

147.0
138.1




D12 - 134.6 - All 118.3 - All 118.3
- 111 143.1 - 112 144.3 - 112 144.3
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